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The aim of this resource is to give students the opportunity to increase further learning and use this material alongside other Core Curriculum Framework.  It can be incorporated as part of a Numeracy programme already started, it can be used as a starting point to introduce learners to the world of logistics or it could be used as a stand-alone package for Level 1 Numeracy.
The main objective is to provide the student with an insight into the Numeracy Core Curriculum and introduce the sections: Number, Measures, Shapes and Space and Handling Data.
Covering all aspects of the Adult Numeracy Core Curriculum with the logistics numeracy course will enable learners to practise various subject areas within all the  main areas and help them progress to a higher level.  The information and tasks compiled in this training book can be used as an individual programme to assist learning when necessary or used for differentiated learning in small groups of learners who need extra support in particular areas.
As learners work through the training book – they will be able to:
· use various strategies to contribute to related discussions and situations in the logistics environment
· read and identify various types of calculations, including addition, subtraction, multiplication, comparison, ratio, probability and other relevant core curriculum topics
· have the ability to locate information and improve reading, understanding and calculation strategies
· use and recognise associated vocabulary and calculation required  in a logistics setting
· use the correct numerical knowledge, complete single, double and more complex calculations with correctly answered numerical problems
· plan, draft and present information to a suitable audience in a logical sequence, format and structure; ie using diagrams, assumptions and reassessing information where necessary. 

The resource is presented as 17 sessions, detailed in the following scheme of work. This includes a logistics focused revision session which covers a number of aspects covered through the first 16 sessions. Each session details the aims and objectives and includes a number of tasks for learners to complete. The answers to these tasks are shown towards the end of the resource.



Scheme of Work
	Session / Page
	Topic
	Activity
	Actual activity
	Curriculum references

	1 / 8
	Addition
	· Recognising numbers and words for numbers
· Ordering and place value
· Addition of numbers
	1. To write numbers and words
1. To recognise place value
1. To fill in the missing numbers
1. To carry out addition calculations
	· N1/L1.1 Read,  write, order and compare numbers, including large numbers
· N1/L1.3 Add, subtract, multiply and divide using efficient written methods


	2 / 11
	Subtraction
	· Calculate a range of sums using subtraction
	· To recognise different words for subtraction
· To fill in the missing numbers of a range of figures
· To calculate a group of figures by using subtraction
	· N1/L1.1 Read,  write, order and compare numbers, including large numbers
· N1/L1.3 Add, subtract, multiply and divide using efficient written methods

	3 / 13
	Multiplication
	· Calculate a range of problems using multiplication
	· To recognise words that mean multiply
· To calculate the multiplication square
· To read and answer questions by multiplying the answer
· To undertake long multiplication
	· N1/L1.3 Add, subtract, multiply and divide using efficient written methods
· N1/L1.5 Recall multiplication facts up to 10x10 and make connections with division facts
· MSS1/L1.1 Add, subtract, multiply and divide sums of money and record


	4 / 18
	Division
	· Calculate division sums

	· Why is it important to remember your times tables
· Read and answer multiplication and division questions
· Calculate division sums
	· N1/L1.3 Add, subtract, multiply and divide using efficient written methods
· N1/L1.5 Recall multiplication facts up to 10x10 and make connections with division facts
· MSS1/L1.1 Add, subtract, multiply and divide sums of money and record

	5 / 22
	Pay slips


	· Wages / Salary
· Payslips
· Tax / National Insurance
· Gross Pay / Net Pay
	· What is the difference between wages and salary
· What is a payslip
· Label a payslip
· Calculating Tax and National Insurance
· Calculating Wages
	· N2/L1.5:Add, subtract, multiply and divide decimals up to two places

· N1/L1.10:Solve problems with and without a calculator involving positive numbers



	6 / 33
	Data collection sheets
	· Data Collection Sheets
· Creating a Data Table
· Calculating Costs – via Courier Service

	· What is a Data Collection Sheet
· How can data be interpreted
· Creating a Data Collection Sheet
· Calculating the cost of Postage / Courier Service
	· HD1/L1.2:Collect, organise and represent discrete data e.g. in tables, charts, diagrams and line graphs

	7 / 36
	Health and safety











	· Health and Safety at Work Act 1974
· Plan of a Warehouse
· Personal Protective Equipment (PPE) costs
· Average (Mean)
· Calculating Costs of Training
	· Calculating the costs of Health and Safety
· Calculate the average
· Calculate the costs of Health and Safety Training

	· HD1/L1.3:Find the arithmetical average (mean) for a set of data
 
· N2/L1.5:Add, subtract, multiply and divide decimals up to two places

· N1/L1.10:Solve problems with and without a calculator involving positive numbers

	8 / 40
	Time
	· What is Time?
· Calculating Time
	· Identifying time
· Identifying amounts of time
· Working out times
· Lengths of time

	· MSS1/L1.3:Calculate using time

· MSS1/L1.2:Read and measure time accurately and use timetables effectively

	9 / 44
	Mileage charts
	· Mileage charts 
	· What is a mileage chart?
· Calculating distance
· Calculating journey times
	· MSS1/L1.5:Read, estimate, measure and compare distance

· MSS1/L1.3:Calculate using time

· MSS1/L1.2:Read and measure time accurately and use timetables effectively

	10 / 47
	Charts and graphs
	· Pictograms
	· What is a pictogram?
· Reading pictograms and interpreting data
· Drawing pictograms using given data
	· HD1/L1.1:Extract and interpret information e.g. in tables, diagrams, charts and simple line graphs

· HD1/L1.2:Collect, organise and represent discrete data e.g. in tables, charts, diagrams and line graphs

	11 / 51

	Charts and graphs
	· Tally charts
· Pie charts
	· What is a tally chart?
· What is a pie chart?
· Creating a tally chart with given data
· Drawing a pie chart
	· HD1/L1.1:Extract and  interpret information e.g. in tables, diagrams, charts and simple line graphs

· HD1/L1.2:Collect, organise and represent discrete data e.g. in tables, charts, diagrams and line graphs

	12 / 55
	Charts and graphs
	· Bar charts
	· What are the main features of a bar chart
· Reading bar charts
· Creating a bar chart
	· HD1/L1.1:Extract and interpret information e.g. in tables, diagrams, charts and simple line graphs

· HD1/L1.2:Collect, organise and represent discrete data e.g. in tables, charts, diagrams and line graphs

	13 / 58
	Postage and packaging
	· First class post
· Second class post
· Special Delivery Guaranteed by 1pm
· Royal Mail Signed for

	· What is the difference between the different types of postal charges
· Making decisions about how to send mail to customers / retailers etc
· Calculate the cost of Special Delivery / Signed For mail
· Calculate an average price
	· MSS1/L1.4:Read, estimate, measure and compare length, weight, capacity and temperature using common units and instruments

· MSS1/L1.6:Add and subtract common units of measure within the same system

· MSS1/L1.7:Convert units of measure in the same system
· HD1/L1.3:Find the arithmetical average (mean) for a set of data

	14 / 64
	Percentages
	· Using percentages in business
· Working with percentages
	· Recognise the term and symbol for ‘percent’
· Calculate a range of percentage questions 
· Calculate an increase in the price of the cost of your goods
· Calculate a price reduction on a range of items to help them sell quicker 
	· N2/L1.3 Recognise equivalencies between common fractions, percentages and decimals and use these to find part of whole-number quantities
· N2/L1.8 Read, write, order and compare simple percentages, and understand simple percentage increase and decrease
· N2/L1.9 Find simple percentage parts of quantities and measurements
· N2/L1.10 Find simple percentage increase and decrease

	15 / 69
	Averages
	· What is an average?

	· Write the definition of the word ‘Average’
· Calculate addition sums
· Calculate addition and division sums
· Work out the mean, mode, median and range
· Calculate the average temperature in a warehouse 

	· HD1/L1.3 Find the arithmetical average (mean) for a set of data
· HD1/L1.4 Find the range for a set of data

	16 / 74
	Ratios
	· Recognising and understanding forms of ratios
· Using and calculating ratios
	· To identify the term ratio
· To recognise what a ratio does
· To answer questions involving ratios
	· N1/L1.7 Work out simple ratio and direct proportion


	17 / 77	
	Numeracy
	· Revision Project
	· A recap of the sessions covered
	

	
ANSWERS  - Page 145 onwards















Session 1 	Addition 
Aim:  To calculate a range of sums using addition 
Objectives:
· To write numbers and words of a range of figures
· To recognise what place value is
· To fill in the missing numbers of a range of figures
· To calculate a group of figures by using addition 

Tasks
1. To write numbers and words
1. To recognise place value
1.  To fill in the missing numbers
1. To carry out addition calculations

What is a place value?
The decimal number system means each number has a value depending on its place or position. The number has a value of 10 times the place to its right.
	Millions
	Hundred thousands
	Ten thousands
	Thousands
	Hundreds
	Tens
	Units



Examples
689       = 6 hundreds   8 tens    9 units
                   600               80        9                  = 600 + 80 + 9 = 689

10,679 =  1 ten thousands 0 thousands  6 hundreds  7 tens   9 units
                          10,000 + 600 + 70 + 9   = 10,679
Task 1
Write these numbers in words 
201 
301
480   
540  
686   
1,006   
2,678 
10,780
 68,900

Task 2            
Identify place value on these figures .
532             ______        hundreds    ______tens       ______   units
326              _________________________________________
2,090        ____________________________________________
7,280          ___________________________________________
15,890         ___________________________________________  
109,029      ____________________________________________


Task 3
Fill in the missing numbers
81, 84, - , –, 93, -, -,  -, 105 , -, -, – ,
200  -    220   –    240   -     -  270  280  -  300
80 -  -  -  -  -  -  -  -   62
Place these numbers in order starting from the lowest and then the highest
 1859   1450   8396   1299   2090   4809   10590    243    5875    7902    11101   
Task 4
Addition Sums
Undertake the following calculations without the use of a calculator.
1234 + 780  =                                          	       871 + 656  =

1239 + 548 =						        897 + 3431 =

65 +  480 + 258 =                                     	       87  + 119 + 358 =

780 + 289 + 806  + 123 =                                      589 + 230 + 1082 + 3870  =





Session 2	Subtraction
Aim:  To calculate a range of sums using subtraction.
Objectives:
· To recognise different words for subtraction
· To fill in the missing numbers of a range of figures
· To calculate a group of figures by using subtraction.

Tasks
1.  Identify other words for subtraction
1. Complete the missing numbers
1. Calculate a range of subtraction sums
1. Check answers by inverse operation calculations.

















Task 1
What is subtraction?  Give at least four other words for Subtraction.
------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Task 2
Fill in the missing numbers
600 -    -    525 -  475   -   -   - 
281  -    -    -    -    -   221  
701   -    -   686  -    -    671, 666   -    -    - 
600     570     -     510     480   -     420  
Task 3
Undertake the following calculations 
Do these without the use of a calculator
1100 – 179 =                                            88 – 59 =
1903 – 238 =                                            808 – 188 = 
350 – 189 =                                              1279 – 299 = 
2080 - 580 =  			           7902 – 369  =
Task 4
Name one way you can check your answers.

Session 3	Multiplication
Aim:   To calculate sums by multiplying.
Objectives:  To calculate a range of problems using multiplication.
Tasks 
1. To recognise words that mean multiply
1. To calculate the multiplication square
1. To read and answer questions by multiplying the answer
1. To undertake long multiplication.




















Task 1
What is multiplication?   List the words that mean multiply
…………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………………
Task 2
Complete the multiplication number square
You have 10 – 15 minutes to do this.                                                                          
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[image: ] Task 3  	Long multiplication
Multiply by the tens and the units separately, then add the two rows together.
To calculate 230 × 45, first, multiply by 5 (units):
 230
x 45
____
1150

You need to add a zero on the right-hand side of the next row.  We have to multiply by 40 (4 tens), which is the same as multiplying by 10 and by 4.
Now multiply by 4:
 230
x 45
____
1150
9200

Now add your two rows together, and write your answer.
  158
 x 67
_____
 1150
 9200
_____
10350

So the answer is 10350
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Task 4
1. The manager needs to buy some shelving for the office.  The shelves cost £22.00 and brackets cost £5.00.   He decides he needs to buy 8 shelves and will need two brackets for each shelf.
How much will it cost altogether?
2. Michael has to buy some stationery for his office.  Here is his list.  He has a budget of £40.00
	· 4    A4 Ream of paper @ £2.80
· 5    Box of Pencils @ £3.60
· 2    Highlighter pens @ £4.99



How much did he spend altogether? 
Does Michael meet his budget? Is he under or over the amount he has to spend?
3. The following sales have been made:
£8.50,  £7.20,  £17.80,  £28.46,  £7.34,  £12.76
1. Calculate the total
1. How much change from £100.00 do you have?
1.    Check your answer

4. The lorries have to be filled with diesel.  How much money is spent altogether.
Lorry A     60 litres of fuel @ 1.35 per litre   
Lorry B      78 litres of fuel @ 1.42 per litre  
            Lorry C      118 litres of fuel @ 1.28 per litre

  







Session 4    Division
Aim: To recognise that multiplication and division are inverse operations.
Objectives: 
· To calculate division sums
· To use the times table square to help with division sums
· To recognise that multiplication and division are opposite (inverse operations).

Tasks
1. Why is it important to remember your times tables
1. Read and answer multiplication and division questions
1.  and 4. Calculate division sums.

Why is it important to remember your times tables?
Division is the opposite calculation to multiplication.  The times table square can be used to calculate division too.  Find the number you want to divide and use your fingers to go to the edge of the square in both directions to get the answer.




Task 1
What words are also associated with division?
Task 2
Read and answer the following multiplication and division questions.
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Task 3
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Task 4
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Session 5 	Pay slips

Aim:  To identify the importance of a payslip, tax and national insurance. 
Objectives:
· To identify the categories on a payslip
· To read and answer questions on payslips
· To show the difference between gross and net pay
· To calculate a weekly wage.

TASKS
1. Demonstrate the differences between wages and salary?
What is a payslip
1. Label a payslip 
1. Read and answer questions on payslips
1. Calculating Tax and National Insurance
1. To calculate wages – gross and net Pay.


Task 1
What is the difference between wages and a salary?
What is a payslip?
How often should you get a pay slip?
What is meant by basic pay?

Task 2
Can you label the following payslip?
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Task 3
Read the information below about payslips and answer the questions
Your Payslip

A payslip is required by law and must include your name, the date, any hours worked and any deductions on it.    Personal information is important and it must also state your payroll number, national insurance number, tax code and rate of pay.
It is important you are able to understand your payslip and check whether you have been paid correctly.   You need to check all amounts including your basic pay, overtime have been paid at the correct amount.  Also relevant tax and national insurance and pension amounts have been deducted at the correct rate.
Payslips show a range of information, these include the amount of gross pay they have earned, this is the amount before any tax and national insurance and other deductions have been taken off.  Gross pay will also indicate and show additional payments such as overtime, tips, commission or bonuses.  The net figure is the amount which will be paid to you.  
Also it should detail any hours worked, overtime, maternity pay, method of payment and the date it will be transferred into your bank account.   If you are on annual leave or have a period of sickness you should still receive a payslip.  A list of all your total earnings in the tax year need to be shown in the form of a summary.  The tax year runs from 5th April to 4th April each year.
Since October 2012 it is law that all employers have to offer a workplace pension scheme.  If you enrol into this scheme you, your employer and the government will pay an amount of money into your pension scheme.
The biggest employers have already started enrolling workers into their pension scheme.  Smaller companies with less than 50 employees have to comply with regulations before 1 February 2016. Currently you need to be between the ages of 22 and State Pension Age, earn £10,000 a year or more and work in the UK to qualify.
Other things that are shown on a payslip include sick pay, maternity, paternity and adoption pay, student loans, CSA (Child Support Agency), child maintenance deductions as appropriate to the individual.

Answer the following questions.
1. Who needs a pay slip?
2. What should be shown on a pay slip?
3. What is gross pay?
4. What is net pay?  How is it worked out?
5. When is the tax year?
6. How can you qualify for a workplace pension scheme?
7. Who will pay into your pension scheme?

National insurance
Everyone in the UK over the age of sixteen is issued with a National Insurance Number.  This number stays with you for life and is used to obtain certain benefits such as health care and pension.    
National Insurance contributions are paid from the age of 16 as long as you earn above £153.00 a week.  There are two bands one for people who are employed and another when someone is self-employed and making £5885 a year in profit.   You do not have to pay National Insurance contributions when you reach State Pension age or have an exception when you are self-employed and are not earning enough money.
	Tax Year – 2014 – 2015

Class 1 National Insurance contributions:

1.   You pay 12 % of the amount you earn between £153 and £805
2.    If you earn more than £805.00 per week , you also pay an extra 2% over £805.00




Tax
Everyone who earns an income in the UK has to pay tax as long as they earn above a certain level.  Some people can get tax relief so it reduces their tax bill and in some cases no tax is paid if someone earns very little.

If you were to win the lottery or premium bonds, your winnings are not taxable. But if you are to put them in a bank account the interest they make will be taxed at the going rate.

 People pay tax on a variety of income, this includes the following: 
· Earnings from employment – your main job
· Earnings from any self-employment – if you have your own business
· Interest on savings
· Income from shares invested in the stock market
· Rental income – (Landlords have to pay tax on the money they receive for letting out their property)
· Pension income  (State, company and private pensions)
· Interest on savings in the bank (except tax free savings, ISAs, Premium Bonds)

Nearly all residents in the UK receive a Personal Allowance. This is an amount of income you are allowed to earn before you have to pay tax.   Currently, 2014 /2015 the basic Personal Allowance is £10,000, higher if you were born before 6th April 1948 or registered blind.   Income Tax is only paid on taxable income which is above your tax–free allowance. ie £10,000.  There are a number of different ways people can reduce their tax bill, for example, age, married couples.   See chart below.
Here is a copy of the Income Tax allowances table for 2013- 2014 and 
2014 - 2015

	
	Income Tax allowances table 2013 - 14 and 2014 – 15

	



	[bookmark: 1a]Income Tax allowances table 2013 - 14 and 2014 – 15

	Income Tax allowances
	2013-14
	2014-15

	Personal Allowance (1)
	N/A
	N/A

	Personal Allowance for people born after 5 April 1948 (1)
	£9,440
	£10,000

	Income limit for Personal Allowance
	£100,000
	£100,000

	Personal Allowance for people aged 65-74 (1)(2)
	N/A
	N/A

	Personal Allowance for people born between 6 April 1938 and 5 April 1948 (1) (2)
	£10,500
	£10,500

	Personal Allowance for people aged 75 and over (1)(2)
	N/A
	N/A

	Personal Allowance for people before 6 April 1938 (1) (2)
	£10,660
	£10,660

	Maximum amount of Married Couple's Allowance (born before 6th April 1935) (2) (3)
	£7,915
	£8,165

	Income limit for age-related allowances
	N/A
	N/A

	Income limit for the allowances for those born before 6 April 1948
	£26,100
	£27,000

	Minimum amount of Married Couple's Allowance
	£3,040
	£3,140

	Blind Person's Allowance
	£2,160
	£2,230






How is tax worked out?
Income tax is worked out on the amount someone earns less their personal allowance, currently £10,000 for people born after 5th April 1948.  This amount is deducted from the total annual salary and income tax is worked out on the rest.
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	Income Tax rates and taxable bands 2013 - 14 and 2014 - 15

	Rate
	2013-14
	2014-15

	Starting rate for savings: 10%*
	£0 - £2,790
	£0 - £2,880

	Basic rate: 20%
	£0 - £32,010
	£0 - £31,865

	Higher rate: 40%
	£32,011 - £150,000
	£31,866 - £150,000

	Additional rate: 50%
	N/A
	N/A

	Additional rate: 45% from 6 April 2013
	Over £150,000
	Over £150,000



This chart indicates how much tax someone would pay if you earned a certain amount. 
For example a single person earning £15,000 per annum (per year) would expect to pay 20 % tax on earnings over the personal allowance, currently set at £10,000.  Basic Rate 20% (£0 - £31,865pa)    See example below.

Someone earning £15,000.00 would pay a Basic rate of 20%.
Gross Income: £15,000 less £10,000 (Personal Allowance)   = £5,000.00
20% tax:  £5,000  x 20%   =  £1000.00 

NB:   Remember you must deduct the Personal Allowance figure before you work out the Basic Rate tax…currently at 20%.   The rate of Income tax is subject to change from time to time, any changes to the rate of income tax will be announced in the Chancellor of the Exchequer’s budget in March.
National Insurance: 
£15,000 / 52 weeks per annum £288.46 
£288.46 - £153.00 =                £ 135.46  - this is the amount you pay National Insurance on.
£135.46 x 12 % =                    £  16.25 per week

£16.25 x 52 = £845.27 per annum.

Another way to calculate: 
NB:   Remember to deduct £153.00 off the total amount earned in a week, £288.46 - £153.00 = ££135.46   
£135.46 x 52 = £7043.92 in a year, then work out 12 % of the remaining figure.
£7043.92 x 12 % =
Answer:  £845.27 per annum  Total National Insurance to be paid.

Gross Income              £ 15,000.00  -
Income Tax                 £    1,000.00  -
National Insurance      £     845.27  =
Net Income                  £ 13,154.73                       

Task 4

1. Imagine working as a Warehouse Assistant, you earn £6.31 per hour and work 40 hours per week, 52 weeks of the year.  Using the tax and national insurance table as a guide work out the following:

i) Calculate how much you will earn each week
ii) Calculate the rate of tax you will pay per week / per year
iii) Calculate the amount of national insurance you will pay in a year 

NB:   National Insurance - Remember to deduct £153.00 off the total amount earned in a week, then work out 12 % of the remaining figure.
 2. Imagine a Warehouse Manager was earning £25,000, using the tax and    national insurance table work out the following:

i) Calculate how much will you earn per week
ii) Calculate how much tax you will pay
iii) Calculate how much national insurance you will pay
iv) Calculate his net income using the following figures as a guide:

Work out the tax he will expect to pay on £25,000; remember to take off the personal allowance then work out the percentage.
Work out the amount of National Insurance he will pay; As he is earning more than £153.00 per week you will need to take this amount off before you do the calculation. 
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	Tax Year – 2014 – 2015

Class 1 National Insurance contributions:

1.   You pay 12 % of the amount you earn between £153 and £805
2.    If you earn more than £805.00 per week, you also pay an extra 2% over £805.00


Task 5
Work out Mr Way’s wages for the next week.
1. Calculate the gross pay -  basic pay /overtime / X2  overtime
2. Calculate the net pay

	LZL Logistics
	Clothing
	NAME:  A Way
	Payroll No 737


	Total Gross Pay YTD
	 £
 4555.52
	Basic Pay 
40hrs @ £6.00
	£



	Tax Paid TD
	  691.59
	1 1/2 Overtime       3  hrs @ £9.00
	

	National Insurance YTD
	
   372.5

	X2 Overtime
 6 hrs @ £12.00
	

	Pension YTD
	    0.00
	GROSS PAY
	

	
	
	Less Deductions
	

	National Insurance No>


 Insurance No
	BA 73 25 61 A
	PAYE Tax
	29.34

	Tax Code
	747L
	National Insurance
	22.32

	Payment method: BACS
	
	NET PAY
	





Task 6
Work out Mr Dart’s wages for the next week
1.   Calculate the gross pay - basic pay /overtime / X2  overtime
1. Calculate the net pay

	LZL Logistics
	Clothing
	NAME:  L Dart
	Payroll No 864


	Total Gross Pay YTD
	 £
 7540.48
	Basic Pay 
40hrs @ £6.50
	£



	Tax Paid TD
	  852.59
	1 1/2 Overtime      6  hrs @ £ 9.25
	

	National Insurance YTD
	
   425.55

	X2 Overtime
 8 hrs @ £11.00
	

	Pension YTD
	    0.00
	GROSS PAY
	

	
	
	Less Deductions
	

	National Insurance No>

 Insurance No
	BA 73 25 61 A
	PAYE Tax
	42.24

	Tax Code
	747L
	National Insurance
	30.06

	Payment method: BACS
	
	NET PAY
	





Session 6	Data collection sheets
Aim:  To create a data collection sheet.
Objectives:
· To identify what a data collection cheet is
· To create a data table
· To calculating various costs including postage.

Tasks
1. What is a data collection sheet and how can data be interpreted
1. Creating a data collection sheet
1. Design a chart to record information
1. Calculating the cost of postage / courier service

Data collection sheets
A data collection sheet is a specific kind of form or table which is used to collect and capture information.   This information can used to record various choices, analyse different jobs or specific behaviours.  
The table below shows an example of how a data collection sheet can be used.  This will enable managers to read the chart quickly and see whether the temperature of the freezers in their lorries are running at the correct temperature.

	TEMPERATURE IN LORRY
	MONDAY
	TUESDAY
	WEDNESDAY
	THURSDAY
	FRIDAY

	LORRY A
	-20 °
	-18 °
	-19 °
	-21 °
	-17 °

	LORRY B
	-19 °
	-18 °
	-18 °
	-18°
	-20 °









Task 1
What is a data collection sheet?
How can data be interpreted?

Task 2
The manager of the warehouse at LZL Logistics is trying to plan ahead and needs to create a staff rota.   This will be used by all managers and staff to ensure everyone knows where they are working at a particular time.
The staff rota needs to include the start time, finish time and number of hours required to undertake a particular job.  It also needs to state the name of the department they are going to be working in.  For example: 
· Packing
· Picking
· Goods inwards 
· Goods outwards. 
Design a data collection sheet / staff rota to record the staff hours for one week.
It needs to include and be able to record information as follows:
· Name of staff
· Hours to be worked – morning or afternoon
· Name of department.

Task 3
DSL Transport has a fleet of ten lorries and is responsible for dealing with supplying frozen goods to a range of supermarkets across the East Midlands Regional Area.  
Design a chart that will record each of the ten lorries and the five supermarkets they will have to deliver to.  It will need to be able to record how many pallets were delivered to each supermarket.




Task 4
Calculate the cost of sending items to a customer:
BR Clothing has just received an important order and is unable to be delivered to the customer via their own transport.  
You have to resort to using the courier, DPD and their next day service delivery.   DPD charge £7.50 per box to arrive the next day.  Each box weighs 12 kg and contains £195 worth of clothing.
You have one pallet which currently holds 7 boxes per layer and 4 layers high.  
You need to:
i. work out how many boxes in total you will need to send.

ii. calculate the cost of sending the whole pallet via DPD courier service


iii. calculate the actual cost of the goods you are sending by courier for insurance purposes

	Insurance Costs

£1.20 per box will insure the items for up to £150.   £1.50 per box will insure the items for up to £200:  


   
15 boxes need to be insured for £150.00
13 boxes need to be insured for £200.00


iv. work out the average cost of each box including insurance

  




Session 7	Health and safety at work
Aim:  To calculate the costs of health and safety in the workplace
Objectives:
· To recognise terminology used in the Health and Safety at Work Act 1974
· To calculate the costs of placing health and safety signs in the workplace
· To calculate the costs of Personal Protective Equipment (PPE) per member of staff

Tasks
1. Consider and calculate the cost of placing health and safety signs in the warehouse
1. & 3  Calculate the costs of kitting out staff with Personal Protective Equipment
1. Calculate the Average (Mean)
1. Calculating Costs of Training


THE HEALTH AND SAFETY AT WORK ACT 1974 
The Health and Safety Executive is responsible for ensuring all companies adhere to the Health and Safety at Work Act 1974.    This is legislation which covers all employees whilst at work in Great Britain.
All companies who employ people need to display a health and safety law poster which provides information about what employers and employees are expected to do whilst at work. 
Employers must give all employees instructions on health and safety including information and training which is adequate for their job.  Training must be paid for by the company and undertaken in work time.   External trainers may go into the company and hold training sessions when there is no one qualified to provide the training.
Health and safety training needs to be clear, simple and easy to understand by all levels of employees.  Everyone has an obligation to be aware of what they need to do to protect themselves and others at all times. 



 Task 1    Plan of WarehouseOFFICE

 

  GOODS INWARD
SORTING

  PICKING AREA


 
 PACKING
GOODS OUTWARD




Imagine you and your workforce are moving into a new warehouse, as manager you are responsible for the health and safety in this building and organisation.  Using the plan of the warehouse, you need to decide what health and safety signs are required.  
You need to decide how many signs you will need and calculate the total cost of these items.  These can be marked on the plan.
You must consider all aspects of health and safety including fire exit signs, fire extinguishers and how many wet floor signs you will need.  You must put at least two or three fire extinguishers and signs in each room.
· Calculate the total cost of signs and fire extinguishers in each department, ie.  Goods Inward, Sorting, Picking, Packing, Goods Outwards

· Calculate the total cost for all signs.

[image: ][image: ][image: ][image: ]
Task 2 
Using the information on Personal Protective Equipment (PPE) below, calculate the cost of kitting out 14 members of staff who are going to work on the forklifts outside and inside the building.
· Calculate the cost for one person 
· Calculate the cost for fourteen people
 Each member in the team needs one of the following:
· High visibility jacket
· Hard hat
· Goggles
· Gloves – reinforced palm gloves
· Safety boots

Task 3

Using the information on Personal Protective Equipment (PPE) below, calculate the cost of kitting 36 members of staff in the picking and packing departments.
Each member of staff needs the following:
· High visibility  waistcoat
· Ear muffs
· Eye protection – goggles
· Safety boots

Task 4
Work out the mean (average) cost for 50 members of staff using the figures in Task 2 and 3. See Session 15 for an ‘Averages help sheet’.

· Add Task 2 and Task 3 totals together
· Calculate the mean





Task 5
          Imagine you are the manager of the warehouse and the company is expanding quite rapidly.  You have just taken on five new staff to work as forklift drivers.  They will all need to have relevant training and be kitted out with the appropriate personal protective clothing.  Three members of staff will need to go on the 3 day training course and two members on the 1 day course.
You need to calculate the cost of taking on the four new members of staff.  
· Use the list and costs of personal protective equipment you have already created.
· Use the appropriate costs for the training courses.
 See the forklift training advertisement below for a guide to the cost of
training.  
	OPL FORKLIFT TRAINING
Counterbalance or Reach Truck
3 Day Training Course  £360.00  Intensive course 
1 Day Training Course £ 160.00   Basic course
Candidates will
· receive a certificate of basic training
· attain a good level of operating skill in accordance with HSE practices
· have a basic knowledge in how to operate industrial counterbalance and forklift trucks
· operate machinery correctly and safely 
· follow manufacturers’ instructions
· understand their own responsibilities under the Health and Safety at Work Act 1974








Session 8	Time
Aim:  To recognise units of time
Objectives: 
· To calculate a range of times using the 12 hour and 24 hour clock
· To identify and work out times associated to work

Tasks
1. Identifying time
1. Identifying amounts of time
1. Working out times at work
1. Calculating lengths of time

TIME
Time is broken down into various units.  Various units of time can be said in a different format.  It is important to recognise these .     
For example: 1 hour can be 60 minutes  













Task 1 
Identifying time.
Can you identify time in different units, what do the following units of time represent?  Write your answers in words and figures:
60 seconds  		= 
15 minutes		=		
30 minutes		=		
45 minutes		=
60 minutes 		=
24 hours 		=
1 week 		= 
1 year 		=               	days
1 year 	 	=		weeks
1 year 		=  		months
10 years 		= 	
100 years		=		

	 Hours and 24 hour clock.

   03.00 represents 3 o’clock in the morning.     15.00  represents 3 o’clock in the  
                                                                         afternoon.              

   08.00 represents 8 o’clock in the morning.     20.00 represents 8 o’clock in the 
                                                                          evening.

   5.15 represents quarter past five in the        17.15 represents 5.15 in the
   morning.                                                          afternoon.
                                






Task 2  
Identifying amounts of time.
How many minutes are there in 3 hours?

How many seconds in five minutes?

How many hours in four days?

How many years are there in four decades?

How many years are there in three centuries?

Change the following times from the 12 hour clock to the 24 hour clock
    i)        9.00 am  			          iii)   8.20 pm
    ii)      10.50 pm			          iv)   3.45 pm

Change the following times from the 24 hour clock to the 12 hour clock
i) 11.00  			  	iii)   17.30
     ii)        19.15				iv)   15.45


Task 3	
Working out times
1. The morning shift starts at 7.00am.  John arrives at 6.40am.  Has he arrived in time for work?  How late or early is he?

2. Lisa’s shift starts at 17.00 till 22.00.  She arrived at 16.47.   Was she in time for work?  How late or early was she?

3. David arrived at 18.53 for his 18.45 shift.   Was he on time or late?  By how much?

4. Michael’s shift times are from 7.00 am.  He works an eight hour shift and has a half hour lunch break which is not included.  His manager has asked him if he can stay and work some overtime for a further three hours.  What time can he expect to finish.






Task 4    
Lengths of Time
	
Paul had to walk to work.  He left home at 7.45 am and arrived at 8.17 am.  He stopped at the newsagents on the way.  How long did it take him to walk?
7.45 am  	8.05  am                       8.10 am                   8.17 am
                                            Newsgent       
         20 minutes                    5 minutes             7 minutes
Add up the amount of time Paul was walking  -   20 minutes + 7 minutes  = 27 minutes
Paul walked for 27 minutes.



1. A Warehouse Manager starts work at 7.30 am and finishes at 5.30pm.  He takes half an hour for lunch.  How long does he work?

2. A Driver starts his shift at 6.30 am and arrives back at the depot at 6.00pm.  He takes ¾ hour for lunch.  How many hours does he work?

3. A cleaner starts her shift at 7.00am and has to work for 4.75 hours.  In this time she has a 15 minute break included.  What time can she expect to finish?

4. The delivery driver left the Amazon Warehouse in Swindon at 7.30 am and arrives at LZL Logistics at 9.15 am, it usually takes ¾ hour to unload before making the return trip.  What time will he arrive back at the Amazon Warehouse?

5. The journey will take 7 hours 35 minutes from the Edinburgh Warehouse to suppliers in London.  The driver leaves at 4.30am and needs ‘two’ half hour breaks.  What time approximately will he arrive at his destination?   Show your workings.

6. Dylan drives for LZL Logistics and has to take a delivery to PM Transport 135 miles away.  The journey is expected to take 3 hours.  It takes him 20 minutes to load his lorry.  He will stop for half an hour on the way for his lunch break.    If he starts at 08.15, what time can he expect to arrive?

Session 9	[image: ]Mileage charts
Aim:  To recognise the use a Mileage Chart
Objectives: 
· To calculate the mileage distance from various places using a mileage chart
· To identify and calculate the journey times  	

Tasks
1. What is a mileage chart?
1. Calculating distance
1. Calculating journey times

What is a mileage chart? 
Mileage charts are usually found in the back of an atlas.  You can find out the correct distance from one place to another by putting your fingers on two places and move them towards each other till they meet.
[image: ]
London to Cardiff - 153 miles
Peterborough to London – 86 miles





Task 1
The warehouse depots are based in the following cities.  Using the mileage chart below, calculate the distance from the following places.

[image: ]

1. Edinburgh  to London
2. Exeter to Leeds
3. Norwich to Edinburgh
4. London to Exeter
5. Leeds to Edinburgh
6. What is the total distance from  Exeter to London then to Leeds 
7. A lorry driver has just arrived in Norwich from London, he has now been asked to go to Leeds the next day.  How many miles will he drive?

Journey times
The same principle is used to find out how long it will take to get from one place to another. 






Task 2
[image: ]
 Can you work out the approximate journey times from one place to another.
1. Edinburgh to London
2. Leeds to Norwich
3. Exeter to London
4. Edinburgh to Leeds
5. Norwich to Exeter  
6. What is the approximate total journey time from Leeds to Norwich then on to London
7. A lorry driver has to drive from the warehouse in Edinburgh to deliver some goods in Leeds then Norwich.  Calculate the approximate journey time there
8. A lorry driver has seven hours left on his tachograph.  A tachograph is an instrument which measures the amount of time a lorry / HGV (Heavy Goods Vehicle) driver is on the road.  
He needs to go from Exeter back to London and then onto Norwich.  Will he have time?  Calculate the approximate journey time and state whether this can be done in the time.








Session 10		Pictograms
Aim: To create a pictogram to record information
Objectives:  
· To read and interpret information on a pictogram
· To recognise the importance of a key
· To draw and label a pictogram

Tasks
1. What is a pictogram?
1. Reading pictograms and interpreting data
1. Drawing pictograms using given data
1. and  5 Calculate and interpret information onto a pictogram
What is a pictogram?
[image: ][image: ][image: ]A pictogram is used to represent data in picture form.   The chart needs to be easy to read and use a picture which is relevant for what you are talking about.   The pictogram needs to have a title to state what information it is showing.  Without a title the information is irrelevant and useless.   It also needs a key to show what each picture represents.  This can be displayed as follows.  
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Monday                                                          
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Tuesday
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[image: C:\Users\Anne\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\New Picture (4).png]
Wednesday 
                       
[image: ]Key:                          2 biscuits





Task 1

How would you represent 1 item if you had 1 item?

   You need to display half of the picture.                 

[image: C:\Users\Anne\AppData\Local\Microsoft\Windows\Temporary Internet Files\Content.Word\New Picture (4).png]    =    --------  biscuits

Write at the side of the biscuits how many were consumed each day.


Task 2

Imagine you had to display how many cameras were sold in a week.     
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  =   25 cameras


1.  According to the pictogram how many cameras have you sold each day and in one week.
2.  Predict how many cameras you might sell in a 4 week period
3.  Predict how many cameras you might sell in a year

Task 3

In each department the workforce is broken down into teams.  Team C and D and E consists of four people.  The department manager wants to know how many tennis racquets they have picked in the last hour for a particular lot of orders.   This information is required in the form of a pictogram.  

1. Transfer the information from the table
2. Use a suitable picture which represents the stock
3. Draw a pictogram for each team 
4. Remember to use a key and put a title on your work

Number of tennis racquets picked by each team in the last hour.

	Team C
	Team D
	Team  E

	
	
	

	John             13
	Alison      18
	Olivia          25

	Michael        24
	          Peter       4
	              Andre          15

	Stephen         9
	David       12
	Valentina     17

	Lisa              14
	Jack          1
	              Tim               8

	
	
	




Task 4

Three teams consist of six people.  The department manager needs to know how many bikes they have picked ready for the packing department in the last hour.  This information is required in the form of a pictogram.  

PERSON
1.    	30 bikes
2.     	50 bikes	
3.		25 bikes
4.		45 bikes	
5.		10 bikes
6.		35 bikes
1. Transfer the information from the table
2. Use a suitable picture which represents the stock
3. Draw a pictogram 
4. Remember to use a key and put a title on your work


Task 5

Warehouse staff wear electronic tagging and information is transferred to management on an hourly basis.  Create a pictogram to show the volume of work five warehouse assistants have picked in one hour from 9.00 – 10.00 am in the clothes department.  

 Number of clothes items picked in one hour from 9.00 – 10.00 am. 

Team a.   	  85      
Team b.         110
Team c.     	  75
Team d.        140
Team e.          90

· Using a pictogram record the data below
· Use an appropriate picture to display the data. 
· Use a suitable key 
· Describes what the chart shows 
· Calculate how many clothes might be picked in a 7 hour day








Session 11 	Tally charts and pie charts
Aim:  To recognise types of charts you can display data on
Objectives:
· To identify what a tally chart is
· To identify the uses of a pie chart

Tasks
1. To record data by using a tally chart
1. To create and construct a pie chart 

What types of charts can you use to display data?
Tally charts, bar charts, pie charts, line graphs, pictograms
Tally charts
A tally chart can be used to put data into different categories.  By using lines the data can be put into groups of 5. Each line represents one with the fifth line drawn through the others.     llll
llll   llll  lll	   		= 13
lll 				=  3
llll l 				=  6
Pie charts
A pie chart is a visual way of displaying data.   They are circular and divided into categories or sections.   Each section depends on the quantity or category.  The pie chart is worked out by using a formula and drawn using a protractor.
[image: ]The biggest section (red) indicates the most time spent in Electronics and Computer department.
The smallest section (blue) represents the least amount of time spent in Toys, Children and Baby department.
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Constructing a Pie Chart
[image: ][image: ]Repeat this process until all sections add up to 360[image: ]
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Task 1
What is a tally chart?  
What is a pie chart?

Task 2
A warehouse assistant at Amazon spends two hours of his day collecting goods in various departments.  He keeps a record of what goods he collects.   Put these items in the form of a tally chart under suitable categories such as Electronics/Computers, Books, Sports and Outdoors and Toys
camera,  comics,  badminton  racquet, Spiderman,  computer mouse,  toy cars,  star wars, mobile phone,  tent,  cricket bat,  dolls, mouse mat,  transformers, dolls clothes,  fishing rod, board games, football table, Barbie, biographies,  football boots,    football,  Lego, tennis racquet,  crime mystery books, I-pod,  mobile phone case, bike, 
Using the list above, create a tally chart to display the list into the four main categories.

Task 3
Using the information in Task 2 create a pie chart to display the Number of items collected in different departments in a two hour period.
Remember to:
· divide the number of degrees in a circle 360 by the total of your data figures  
· then multiply each figure by the total in each category
· construct a pie chart using a protractor






Session 12		Bar charts

Aim:  To recognise the uses of a bar chart
Objectives:
· To identify the main features of a bar chart
· To read and interpret information on a bar chart
· To create a bar chart with a relevant key

Tasks
1. Bar Charts: What are the main features of a bar chart
1. Reading bar charts and comment on the data
1. Create a bar chart to display given data
What are the main features of a bar chart?
A bar chart is used to show data so it can be read more easily.    You need to use the vertical axis otherwise known as the ‘Y’ Axis to put numbers evenly spaced, 10,20,30 etc.  The horizontal axis, ‘X’ Axis is used to put the particular item you are talking about, for example items of clothing, such as trousers, shirts, t-shirts and shorts  
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Task 1

1. What is missing from the chart?
1. Read and identify how many people work in each department
1. How many people work in the company altogether?

Task 2
1. Identify the number of items sold in the Garden Department in a week.
1. Which item has the highest number of sales; comment on the reason for this 
1. Comment why you think the sales for pools and hot tubs are low this month



Task 3
Create a bar chart showing the number of employees working at BR Supplies
Use the following data and interpret on a bar chart.
Remember to detail…the X and Y Axis and give the chart a title.
	Sports
	25

	Electronics
	12

	Household
	15

	Baby Goods
	11

	Garden 
	19



Task 4
Create a bar chart which details the number of items sold in a two hour period at Amazon in the Toy and Games department.  Transfer the items to a bar chart and remember to give it a title.

	Toy cars
	57

	Dolls
	86

	Train Sets
	98

	Board Games
	39

	Transformers
	62

	Bikes
	74


 










Session 13		Postage and Packaging

Aim:  To realise the costs of postage and packaging

Objective:

· To identify the different costs of postage including: First, Second, Special Delivery and Signed For mail


Tasks
1. To identify what is meant by 
· First class post
· Second class post
· Special Delivery Guaranteed by 1pm
· Royal Mail Signed For	
1. What is the difference between the different types of postal charge
1. Making decisions about how to send mail to customers / retailers etc
1. Calculate the cost of Special Delivery / Signed For mail


Postage and packaging

Postage and packaging is an extra charge for companies who have to send their products/ goods to customers.  This is for putting something into a box, container and posting it out.

Postage and packaging also includes putting various stock / items on a pallet and delivering to wholesalers and retailers.  This always incurs costs for the manufacturer or retailer and is usually transferred to the customer in the form of a hidden cost and included in the price of the goods.







Task 1 

What is meant by:
· First class post?
· Second class post?
· Special Delivery Guaranteed by 1pm?
· Royal Mail Signed For?

Task 2

Identify the postage costs for the following items using first class and second class delivery. 
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Imagine you are working in a packing department in a large warehouse.
· You need to decide how you are going to send these items listed below, 1st Class or 2nd Class.
· Can you use a large letter or small/medium parcel. 
· Use the charts above to make your decisions.  Compare the costs and identify the difference between the two.

a)   	T Shirt				120g
b)   	Atlas                       		1100g	
c)       Kettle 	                   		1600g
d)  	Jumper                     	200g
e)     	Pack of 3 tennis balls	175g














Task 3   
See the Royal Mail charts below for Special Delivery Guaranteed and Signed For mail.  
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· Calculate the costs of all the items below using both First Class and Special  Delivery before 1 pm and Signed For deliveries

· Decide which postage you will use for each item and whether you need to have the item signed for. This is good if you have an expensive item.

· Compare all deliveries and comment on which would be best to use and why. 

· What happens to the price when the customer wants next day delivery?


a) Pack of 3 T Shirts            500g
b)	Picture Frame                  225g   
c) 	Pack of three books       2200g
d)  Cushion		      1200g
e)  Mobile phone                   200g

Task 4

Calculate the mean (average) price of the items you are sending out in Task 2 and 3.  Remember to add costs up and divide by the number of items.











Session 14   Percentages
Aims: To recognise when percentages may be used in business
          To calculate a percentage
Objectives:
· To identify when you use percentages
· To calculate 10%, 15% and 20%

Tasks
1. Recognise the term and symbol for ‘percent’
Calculate a range of percentage questions 
1. Calculate an increase in the price of the cost of your goods
1. Calculate a price reduction on a range of items to help them sell quicker 

Task 1
What does the term percent mean?
What is the symbol for ‘percent’?

Percentages
Example 1
What is 25 % of 80?        (This question needs to be turned into a fraction.)
Turn 25 % into a fraction – ¼ of 80
Divide 80 by 4 (denominator)
Times by 1 (numerator)
     x
¼ of 80 
     /
Check your calculation on the calculator by entering 
25 / 100 x 80 = 20
Example 2
In the warehouse you work in there is a lot of stock -  you need to reduce the price to sell them quickly.

A book costs £5.00, you want to reduce the price by 10%
1. Find 10 % of £5.00 
1.  10   x £5.00 =   £50.00     = 50p
100                       100

Example 3
To find 15 % you can calculate 10% and halve the answer and add it on or work out 5% and add it on to the 50p 
1. Find 15 % of £5.00
1. 10 x £5.00 = £50.00   = 50p
100                 100
1. 5   x £5.00 = £25.00    = 25p
100                  100

1. 50 p   + 25p  = 75 p
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Task 2

Calculate the following questions and check with a calculator
1. A supplier is offering 10% extra free on all materials. David needs to buy 
80 No. of shelving for the warehouse.   Calculate how much shelving he will get altogether.
 
1. Jack needs to borrow £8000.00 to fund his business.   He intends to pay back the loan in one year’s time plus interest of 6%.  How much will Jack pay in total?


1. Interest rates rise the following year and are now at 8%, Jack needs to borrow a further £5500.00.   Calculate the total amount Jack will need to pay back? How much interest will Jack have to pay?









Task 3
LZL Logistics has a factory shop in the warehouse.  Due to an increase in goods from your suppliers, the continual fuel increase and overhead charges.  You need to increase your prices by 10% to cover this.
The following goods retail at these prices.  Calculate the new price by increasing them by 10%

Toy department

	ITEM
	Cost
	New Price – Less 10%

	Dolls
	£24.99
	

	Star wars
	£18.99
	

	Toy cars
	£6.50
	

	Football
	£4.35
	

	Tennis racquet
	£15.60
	


	
Work out the following items using the given percentage
	Lego
	£26.50
	15%
	

	Bike
	£!35.00
	15%
	

	Cricket bat
	£8.80
	20%
	

	Spiderman
	£15.90
	25%
	

	Football Table
	£160.00
	15%
	

	Mobile Phone Case
	£7.99
	10%
	



Task 4
You work at BR Clothing and have noticed there is a lot of stock getting left in the warehouse.  You need the space and want sell the items quicker.  One way of doing this might be to decrease the price of the items. 
The following items need to be reduced.  Calculate the new cost if you decrease the price by 10% and 20%.
	ITEM
	AMOUNT
	Reduce by 
10%
	Reduce by 
20%

	Jumper
	£9.00
	
	
	
	

	T Shirt
	£15.00
	
	
	
	

	Skirt 
	£21.00
	
	
	
	

	Dress – Floral
	£28.00
	
	
	
	

	Dress – Indian Design
	£32.00
	
	
	
	

	Dress – Plain
	£26.50
	
	
	
	

	Dress - Patterned 
	£34.50
	
	
	
	

	Trousers
	£19.00
	
	
	
	



Task 5
A van costs £5400 and depreciates (goes down in value) by 10% each year.  Calculate how much the item will cost in 1 year, 2 years and 3 years’ time.
Remember when calculating 2, 3 and 5 years  to use the figure you have obtained in your previous answer.

In one year      £5400 x 10 % = £540 =          £4860.00
In two years    £4860 x 10 % = £480=           £4374.00
In three years £4374 x 10 % = £437.50  =    £3936.50
In four years   £3936.50 x 10% = £393.65 = £3542.85
In five years    £3542.85 x 10% = £354.29 = £3188.56

The van will depreciate and be worth £3188.56 in five years’ time.   In order to work out five years you will have to work out Year 4 as well.
















Session 15    Averages
Aim:  To recognise what an average is
Objectives:
· To recognise different words associated with ‘averages’
· To add a range of figures together without the use of a calculator
· To calculate the mean
· To work out the mean, mode, median and range of a set of figures

Tasks
1. Write the definition of the word ‘average’
1. Calculate addition sums
1. Calculate addition and division sums
1. Work out the mean, mode, median and range
1. Calculate the average temperature in a warehouse 















Task 1
Write down a definition for the word “averages”
------------------------------------------------------------------------------------------

Task 2   
Undertake the following calculations.  Do these without the use of a calculator. 

15 + 8 + 7 =                                        17 + 23 + 5 =

17 + 16 + 6 =			              42 + 13 + 14 =

13 + 8 + 18 =				      62 + 24 + 25 =

7 + 8 + 6 =                                          16 + 8 + 12 =

17 + 16 + 10 + 9  =			      13 + 14 + 6 + 9=  

13 + 8 + 20  + 11 =		                 62 + 24 + 25 + 7 + 18 =









 Task 3 
Add up the calculations
Add the number of calculations in the sum.
Divide/share your answer by the number of digits in the sums
 3 + 3 + 3  =  3 digits          This is the number you divide by…
3 + 3 + 3 = 9          9 divided by 3  = 3     9 / 3 = 3

24 + 24 + 28 + 22  =

14 + 15 + 14 + 17  =

15 + 12 + 13 + 11 + 14  = 

26 +  29 + 20 + 20 + 35 =

12 + 18 + 14 + 12 + 9 =











Average help sheet
Mean
The mean is what most people mean when they say 'average'. It is found by adding up all of the numbers you have to find the mean of, and dividing by the number of numbers.
So the mean of 3, 5, 7, 3 and 5 is   23/5      = 4.6 .
Mode
The mode is the number in a set of numbers which occur the most. So the modal value of      5, 6, 3, 4, 5, 2, 5 and 3 is 5, because there are more 5s than any other number.

Range
 The range is the largest number in a set minus the smallest number. So the range of 5, 7, 9 and 14 is (14 - 5) = 9. The range gives you an idea of how spread out the data is.

The median value

 The median of a group of numbers is the number in the middle, when the numbers are in order. 
For example, if the set of numbers is 4, 1, 6, 2, 6, 7, 8, 
 1, 2, 4, 6, 6, 7, 8     the median is 6:
 If the set of numbers is 5, 1 ,7, 7, 4, 2, 4, 6
1, 2, 4, 4, 5, 6, 7, 7,
The numbers in the middle are the 4 and 5, add these together and divide by 2 .  The answer is 4.5.




Task 4
Below is a list of items sold in a monthly period   
Calculate the mean and mode,   of 
Kettle
1. 1,  6,  9,  5,  11,  8,  5,  13,  5.
Toaster	
	(b)	23,  11,  17,  12,  14,  29,  30,  11,  29,  19.
Microwave
	(c.)	8,  3,  6,  5,  2,  10,  1,  7,  4,  9.
Coffee Maker
   	(d)	103,  134,  109,  112,  121,  148,  134.
Television
(e)	9,  1,  7,  3,  5,  4,  3,  5,  4,  8,  2,  9.

Task 5
There are many in the stock rooms in the warehouse where you work.  Your boss has asked you to take the temperature of all the rooms and work out the 
· mean 
· mode 
· median 
· range
Here are your findings:
	Picking Area
	11 degrees

	Sorting Area
	18 degrees

	Goods Inwards
	19 degrees

	Goods Outwards
	15 degrees

	Packing
	23 degrees

	Office
	14 degrees

	Yard Office
	12 degrees




Session 16		Ratios
Aim:   To identify what a ratio is
Objective:  
· To calculate a ratio to its lowest form
 
Tasks
1. To identify the term ratio
2. To recognise what a ratio does
3. To answer questions involving ratios


What is a ratio?
A ratio shows the relative sizes of two or more values.

Ratios can be shown in different ways. Using the ":" to separate example values, or as a single number by dividing one value by the total.

Example: if there is 1 boy and 3 girls you could write the ratio as:

1:3 (for every one boy there are three girls)
1/4 are boys and 3/4 are girls
0.25 are boys
25% are boys 
A ratio is used in mathematics to show how types of things can be compared with others.


Above there are six boxes, two are white and four are blue.
It can also be said that for every one box there are two blue.
The ratio can be written.  4 : 2
Cancelled down to its lowest form = 2 : 1
 2 Blue :  1 White

Task 1
Equivalent Ratios
1 ) 1 : 2 = __ : 4 = __ : 6 = 4 : __ = 5 : __ = 6 : __

2 ) 1 : 3 = __ : 6 = __ : 9 = 4 : __ = __ :15 = 6 : __

3 ) 1 : 4 = __ : 8 = __ : 12 = 4 : __ = 5 : __ = 6 : __

4 ) 4 : 7 = __ :14 = __ :21 = __ :28 = 20 : __ = __ :42

5 ) 1 : 3 = __ : 6 = 3 : __ = 4 : __ = __ :15 = 6 : __

6 ) 1 : 6 = 2 : __ = __ :18 = 4 : __ = 5 : __ = 6 : __

7 ) 3 : 5 = 6 : __ = __ :15 = __ :20 = 15 : __ = 18 : __

8 ) 1 : 8 = 2 : __ = 3 : __ = 4 : __ = 5 : __ = __ :48

9 ) 2 : 3 = __ : 6 = 6 : __ = __ :12 = 10 : __ = __ :18

10 ) 2 : 5 = 4 : __ = 6 : __ = 8 : __ = 10 : __ = 12 : __






Task 2
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Session 17		Revision project
Pat is a lorry driver who is going to France for the first time.  He has to plan his trip, setting off Monday morning and returning Wednesday.  
 
	Activity
	Plan of the Activity
	Topics Covered

	1
	He needs to calculate how much money he needs for the trip.  He has to take into account fuel, meals and accommodation.  How much does he need?  Round it up to be safe, write a cheque for the amount to draw from bank
	Add money, calculate miles per gallon, calculate costs, roundings, and writing words and figures

	2
	He is travelling by ferry from Dover to Calais.  He needs to be at Dover at least 30 minutes before the ferry time.  How long will it take him from the depot to Dover, what time is his ferry and how long is the crossing
	Read time-table, use 24-hour clock, calculate time, use average speeds

	3
	He needs to buy fuel, is it better to buy it in UK at £ per gallon or in France at € per litre
	Convert gallons to litres, £’s to €’s, using charts, fractions and ratio

	4
	He needs to change some of his money to Euros.  Is it better at the port, on the boat or in France
	Compare exchange rates, make calculations, make decision

	5
	He travels through France to make his delivery.  How far in km’s can he travel before buying more fuel, how far does he drive in km and miles before his first stop.  He has meals on his trip.
	Calculate km from miles, calculate distance in time, using averages.  Read menu, add cost, pay and receive change

	6
	Return load is on pallets – will they fit into his truck or will he have to off-load and manually load (taking more time)
	Using measurements, length, width and height. Calculate area and volume, fractions of and percentage of

	7
	Will it rain? What temperature is it?
	Odds and probability, centigrade/fahrenheit, read chart

	8
	Plan return journey, if he misses his return ferry when is the next one, remember France is one hour different to UK time
	Scale, average, motorway speeds/b-road speeds, range

	9
	Calculate his gross pay, less tax and national insurance to give net pay
	Monetary calculation, add money, percentage calculation, add and deduct values

	10
	How much did he spend, how much has he left.  Summarise the cost of the whole trip
	Add money values, in both £ and €, convert back and  deduct from original sum






Pat has to drive to France and back, let us see if we can help him plan his journey.

	
Unless otherwise instructed use the following equivalents for all calculations in this project:
4.55 litres = 1 gallon

1 Euro = £0.80p

8 kilometres = 5 miles

Remember to show all your workings, assumptions and calculations.




Activity 1

He needs money for food, fuel and accommodation.  As a lorry driver he needs to follow driving rules and make regular stops.  He decides to allow £5 for breakfast, £5 for lunch, £10 for dinner and £30 for accommodation. 

· How much money will he need for food and accommodation? He is leaving after breakfast at home on Monday and hopes to arrive home in time for dinner on Wednesday.  

His lorry does 20 miles to the gallon and his depot is 60 miles from Dover, his delivery in France in 600 miles from Calais.  

· How many miles will he travel there and back and how many gallons of fuel will he need? 

· What is his estimated cost for fuel?  Assume each gallon costs £6.20.  


· What is his total cost for the trip?  

· To allow for extra costs it is decided to round up the amount to the next nearest £50.  

· Pat takes a cheque to the bank to draw the necessary cash, fill out the cheque for him:
LLoydclays Bank
Maidstone Branch			date:  1st June 2014

Pay:  Cash							£				
The Amount of …………………………………………signed on behalf

………………………………………………………….
0036		36 91 06	29945561235987








Activity 2

Here is part of the timetable for the ferry service from Dover to Calais.  

	
	remember to check in at least 30 minutes before departure time

	Dep:
	Dover
	0600
	0700
	0800
	0900

	Arr:
	Calais
	0935
	1035
	1135
	1235

	
	remember to put your clocks forward one hour for France



Pat intends to catch the 0700 ferry. Dover is  60 miles away and he can average 40 miles an hour.  

· What time does he need to leave the depot to ensure he is at Dover on time? 

· How long is the ferry crossing?


 
Activity 3

Fuel in the UK costs £1.35 per litre.  

· How much is this per gallon?  

Pat discovers that fuel in France is cheaper than in the UK, so he buys enough fuel to get him to Dover then fills up with another 15 gallons in France.  
· How much fuel does he need to buy in the UK and how much does that cost?  

· How much does his 15 gallons in France cost if the French price is 1.30 Euro per litre?

· How much does Pat save per 15 gallons?  

· If he averages 20 miles per gallon how many times does he need to fill up to complete his journey through France and back?


Activity 4

Pat needs to change his money to Euros to spend in France.  There are three exchange rates.  The bank charges £10 commission and gives each euro for .83p, on the ferry the commission is £5 but each euro is .82p and in France there is no commission and each euro is .80p. 

· Calculate how many euros Pat will get for £500 and which is the best?


Activity 5

The speeds on the French roads are in KM’s per hour, so Pat has to calculate how many miles per hour that is in order not to break the speed limits.  The limit on motorways is 120 km/hour and on other roads 80 km/hour.  

· What are these speeds in miles per hour?  

The trip goes well, and Pat stops for lunch and re-fuels, he then finds somewhere to stop overnight and eat dinner. From the dinner menu he chooses French onion soup at €2, Pork steak and vegetables at €5 and the cheese selection at €3.

· What was his total for dinner?  

· He left a 10% tip, what change did he get from a €20 note?

Activity 6

After dropping his delivery, Pat has to pick up a return load.  It is on pallets – but will they fit?  There are 60 pallets measuring 3 feet wide, 4 feet long and 2 feet high.  Pat measures his truck – it is 9 feet wide, 16 feet and long and 10 feet high.  

· Will the pallets fit?  Show the calculations of both area and volume to prove it. 

· Draw to scale a pallet and the back of Pat’s lorry.


Activity 7

Pat notes that when driving the speed allowed is lower when it is raining, which will affect his average speeds and make him late. Look at the chart below:
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Pat is travelling in June.

· How many days rain do they normally expect in June?  

· What is this in terms of probability, express as a fraction and percentage.  

· Over the full 6 months shown what is the average days per month of rainfall and the range of days?


Activity 8

The return journey by Ferry takes 2 hours 40 minutes.

· Complete the time-table below to show what time the ferries arrive in Dover.	

	time
	remember to check in at least 30 minutes before departure

	Dep:
	Calais
	1010
	1110
	1210
	1310

	Arr:
	Dover
	
	
	
	

	
	remember to put your clocks back one hour for United kingdom



· Pat intends to be on the 13.10.  What time does he need to be at Calais?  

· What time does he arrive at Dover?  

· If it takes another 50 minutes to clear customs and passport control and to buy 4 gallons of fuel, what time does he arrive at the depot?

Activity 9

Pat’s partner wants to know how much he will get paid for this trip to France.  Pat calculates that he will get paid for 3 days work at 8 hours per day at £12 per hour, plus 4 hours per day overtime at basic rate + ½.  

· How much in total will Pat earn? 

· If he pays tax at 20% and national insurance at 10%, how much tax and national insurance does he have to pay? 

· How much does that leave him to spend?


Activity 10

On his return to work Pat has to summarise the cost of the trip.  His meals and accommodation averaged as per his estimate.  

· How much did he spend on fuel in euros?

· How much was that is £’s?

· How much did he spend on fuel in UK?

· What was the total cost of trip and how much did Pat return from the money he took to pay for it?


Activity 11

The next morning the fork lift driver has to off-load Pat’s lorry.  Each pallet has to be lifted off separately, driven to another part of the warehouse and stacked.  

· If each pallet takes 3 minutes how long will it take to off-load Pat’s Lorry?  

· Pat needs to be gone on his next trip, so three other fork lift drivers help.  How long will now it take to off-load Pat’s Lorry?
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Session 1	Addition
Task3
Fill in the missing numbers
81, 84, 87, 90, 93, 96, 99, 102, 105, 108, 111,114 
200 210   220   230    240   250   260 270 280 300
80 78 76 74 72 70 68 66 64 62
Place these numbers in order starting from the lowest and then the highest
 1859   1450   8396   1299   2090   4809   10590    243    5875    7902    11101   
243 1299 1450 1859 2090 4809  5875  7902   8396  10590  11101 

Task 4
 1234 + 780 =         2014                               	       871 + 656 =	1527

1239 + 548 =		1787				        897 + 3431 =	  4328

65 + 480 + 258 =	 803                                 	       87 + 119 + 358 =  564

780 + 289 + 806 + 123 =    1998                         589 + 230 + 1082 + 3870 =   5771



Session 2	Subtraction
Task 1
What is subtraction?  Give at least four other words for Subtraction.
· Subtract
· Minus
· Remains
· Fewer than
· How many more 
· Decrease
· Take away
· Less than
· Difference

Task 2
Fill in the missing numbers
600 575    550    525   500  475  450   425   400 
281 271    261    251    241    231   221  
701   696   691   686   681   676  671 666   661   656   651 
600     570     540     510     480   450     420  
Task 3
1100 – 179 = 921			88 – 59 = 29
1903 – 238 = 1665			808 – 188 = 620
350 – 189 = 161			1279 – 299 = 980
2080 - 580 = 1500			7902 – 369 = 7533
Task 4
Name one way you can check your answers.
You can add the answer to the figure to the right of the minus sign and you should get the figure to the left of the minus sign
e.g. 1100 = 921 + 179
Or – you could use a calculator or spreadsheet












Session 3	Multiplication
Task 1
Words that mean multiplication include:
Multiply, times, product, multiples, factor, groups of, sets of, groups
TASK 2
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Task 3
28 X 12 = 336
34 x 15 = 510
45 x 19 = 855
37 x 28 = 1036
67 x 36 = 2412
119 x 25 = 2975


Task4 
1.  Shelves 8 x £22.00  =  £176.00
          Brackets 16 x £5.00 = £80.00
          Total cost £176.00 + 80.00 = £256.00
1.   4   A4 Ream of paper @ £2.80  = £11.20
    5   Box of Pencils @ £3.60        = £18.00
    2   Highlighter pens @ £4.99     = £9.98
Totals £39.18    Yes Michael does meet his budget by 82p.
1.  Totals  £82.06    Change :£17.94
£82.06 + £17.94 = £100.00
1. 4. The lorries have to be filled with diesel.  How much money is spend altogether.
Lorry A     60 litres of fuel @ 1.35 per litre   £81.00
Lorry B      78 litres of fuel @ 1.42 per litre  £110.76
Lorry C      118 litres of fuel @ 1.28 per litre £151.04





Session 4	Division
Task 1
Words that mean division are:
Share, each, share equally, equal parts, cut, split, average, ratio, quotient
Task 2
Division and multiplication
1. 45
1. 6
1. 5 sweets
1. 7
1. 42
1. 9
1. 9
1. 28
1. £56.00
1. 8x6 = 48  9 x 5 = 45    8x 6 is the bigger number
Task 3 
         59          33   	74     86     56
    90           38	86     54     57
    61  	   85    60     24    38
52         68   	10  	61   	27
Task 4
   616         788        246    808
   155         356        333    278



















Session 5	Pay slips
Task 1  
What is the difference between wages and a salary?
Wages are usually paid on a weekly basis and calculated by the number of hours worked multiplied by the hourly rate of pay. 
A salary is an amount quoted of the whole year and each pay period is the same each month.   The annual salary of £12,000 is divided by 12 months giving a total of £1000 per month before deductions, ie national insurance, Tax etc  
What is a payslip?
A payslip is a legal document that all employees need to receive to show their earnings, gross and net pay together with deductions.
How often should you get a pay slip?
You should get a pay slip every time you get paid.
What is meant by basic pay?
Basic pay is the total amount of pay you will receive before additional benefits, ie medical cover, commission, clothing and overtime are taken into consideration.

Task 2  
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Task 3  

1. Who needs a pay slip?

Everyone who works is entitled to a pay slip by law.

2. What should be shown on a pay slip?

Employee name
Employee number
NI number
Salary/wage  
Number of hours
Employee address
Tax Code, Tax Period, Payment Method
Summary of total to date
Gross pay
 Net pay
Pension
Loan / CSA repayments

3. What is gross pay?

Gross pay is the amount of money you earn before deductions (tax, national insurance, CSA maintenance, loans) have been taken into consideration.

4. What is net pay?

Net pay is the amount of money you take home after all deductions have been accounted for.  

Gross pay - tax - national insurance etc = Net pay

5. When is the tax year?

The tax year runs from 6th April to 5th April each year.

6. How can you qualify for a workplace pension scheme?
Currently you need to between the ages of 22 and State Pension Age, earn £10,000 a year or more and work in the UK to qualify.  As at June 2014 you need to work in a company more than 50 employees.   By February 2016 it is hoped that all employees will be eligible to pay into a pension scheme.
7. Who will pay into your pension scheme?

You, your employer and the government will all pay a percentage into your pension scheme

Task 4 
1. Imagine working as a warehouse assistant, you earn £6.31 per hour and work 40 hours per week, 52 weeks of the year.  Using the tax and national insurance table as a guide work out the following:

i) Calculate how much you will earn each week
ii) Calculate the rate of tax you will pay per week / per year
iii) Calculate the amount of national insurance you will pay in a year 

NB:   National insurance - Remember to deduct £153.00 off the total amount earned in a week, then work out 12 % of the remaining figure.

This chart indicates how much tax someone would pay if you earned a certain amount. 
i) £6.31 x 40 hours x 52 weeks = £13,124.80
ii) For example a single person earning £13,124.80 per annum (per year) would expect to pay 20 % tax on earnings over the personal allowance, currently set at £10,000.  Basic rate 20% (£0 - £31,865pa)    See example below.

Someone earning £13,124.80 would pay a basic rate of 20%.
Gross Income : £13,124.80 less £10,000 (Personal Allowance)   = £3,124.80
20% tax  :   £3,124.80  x 20%   =  £624.96 

NB :   Remember you must deduct the personal allowance figure before you work out the Basic Rate tax…currently at 20%.   The rate of Income tax is subject to change from time to time, any changes to the rate of income tax will be announced in the Chancellor of the Exchequer’s budget in March.
National Insurance - £153.00 x 52 = £7956.  Amount you are allowed to earn before paying NI.
£13124.80 - £7956 = £5168.80 
£5168.80 x 12 % = £620.26 
NB:   Remember to deduct £153.00 off the total amount earned in a week £7956 in a year, then work out 12 % of the remaining figure.

National insurance: 
£13124.80 / 52 weeks per annum = £252.40
£252.40 - £153.00 =                       £  99.40  -  this is the amount you pay National Insurance on.
£99.40 x 12 % =                       £    11.928 per week

£11.928 x 52 = £620.26 per annum
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2. Imagine a Warehouse Manager was earning £25,000, using the tax and national insurance table work out the following:

v) Calculate how much will you earn per week
vi) Calculate how much tax you will pay
vii) Calculate how much national insurance you will pay
viii) Calculate his net income using the following figures as a guide:

Work out the tax he will expect to pay on £25,000; remember to take off the personal allowance then work out the percentage.

TAX - £25,000 – £10,000 personal allowance = £15,000
                                                                 £15,000 x 20 % = £3,000



NI contributions -  You can work this out in a number of ways…
A.
1. Work out how much you earn each week?      £25,000  / 52 = £480.77   
2. You pay National Insurance Contributions at 12 % when you earn between the amounts of £153 and £805 per week.   Take your weekly earning and subtract £153, (the amount you do not pay national insurance on)
3.  £480 .77 - £153.00 =  £327.77
4. Multiply this figure £327.77 by 12 % = £39.33. This is the amount of national insurance you will pay each week.  
5. Multiply 52 x £39.33 = £2045.28 This is the amount of national insurance someone earning £25,000 would pay.  This is towards their Government State pension when they reach retiring age and their National Health – doctors, hospitals etc. 

B.   Another way of calculating:
1.   Calculate the amount of earnings that you qualify for not paying National insurance £153.00 x 52  = £7956
2. Subtract the amount of money you do not pay NI contributions on from the annual salary and multiply by 12 % £25,000 - £7956 = £17044 x 12%  = £2045.28
Gross pay:              £25,000.00- 
Income tax:           £  3,000.00-
National insurance: £  2,045.28
                      £19,954.72
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Task 5  
Work out Mr Way’s wages for the next week
	LZL Logistics
	Clothing
	NAME:  A Way
	Payroll No 737


	Total Gross Pay YTD
	 £
 4555.52
	Basic Pay 
40hrs @ £6.00
	£
240.00


	Tax Paid TD
	  691.59
	1 1/2 Overtime       3  hrs @ £9.00
	 
            27.00


	National Insurance YTD
	
   372.50

	X2 Overtime                             
 6 hrs @ £12.00                           
	           72.00            

	Pension YTD
	    0.00
	GROSS PAY
	        339.00

	
	
	Less Deductions
	

	National Insurance No>


 Insurance No
	BA 73 25 61 A
	PAYE Tax
	29.34

	Tax Code
	747L
	National Insurance
	22.32

	Payment method: BACS
	
	NET PAY
	        287.34






Task6 
Work out Mr Dart’s wages for the next week
	LZL Logistics
	Clothing
	NAME:  L Dart
	Payroll No 864


	Total Gross Pay YTD
	 £
 7540.48
	Basic Pay 
40hrs @ £6.50
	£
260.00


	Tax Paid TD
	  852.59
	1 1/2 Overtime      6  hrs @ £ 9.25
	           55.50 

	National Insurance YTD
	
   425.55

	X2 Overtime
 8 hrs @ £11.00
	           88.00

	Pension YTD
	    0.00
	GROSS PAY
	         403.50

	
	
	Less Deductions
	

	National Insurance No>


 Insurance No
	BA 73 25 61 A
	PAYE Tax
	42.24

	Tax Code
	747L
	National Insurance
	30.06

	Payment method: BACS
	
	NET PAY
	        331.20







Session 6	Data collection sheets

Task 1 
1. What is a data collection sheet?

A data collection sheet is a form of table or document which is used to collect data.  The table can be used as a tick box system and show a variety of information.  It should be easy for the person to display information required. 

2. How can data be interpreted?

Data can be displayed in a variety of way using tables, tally charts, bar charts, pie charts, pictograms and line graphs and data collection sheets.

Task 2

	Day of the Week
	Picking
	Packing
	Goods
Inwards
	Goods
Outwards

	Monday       am
             
                   pm
	
	
	
	

	
	
	
	
	

	Tuesday      am
                
                   pm
	
	
	
	

	
	
	
	
	

	Wednesday am
                   pm
	
	
	
	

	
	
	
	
	

	Thursday    am
 
                   pm
	
	
	
	

	
	
	
	
	

	Friday         am

                   pm
	
	
	
	

	
	
	
	
	





Task 3
	
	Morrisons
	Sainsburys
	Tesco
	ASDA
	Lidl

	9.00 am
	Space to insert Driver’s Name 
	
	
	
	

	10.00 am
	
	
	
	
	

	11.00 am
	
	
	
	
	

	12.00 pm
	Lunch
	Lunch
	Lunch
	Lunch
	Lunch

	 1.00 pm
	
	
	
	
	

	 2.00 pm
	
	
	
	
	

	 3.00 pm
	
	
	
	
	

	 4.00 pm
	
	
	
	
	

	 5.00 pm
	
	
	
	
	



Task 4
i. 1 pallet =  7 boxes per layer and 4 layers high = 28 boxes in total
ii. 28 boxes x £7.50 per box = £210.00 to send via DPD Courier Service.
iii. The actual cost of the goods : 28 boxes x £195.00 = £5460
iv. The cost of insurance: 
£1.50 x 13 boxes = £19.50  
£1.20 x 15 = £18.00    

£19.50 + £18.00 = £37.50 – this will insure the whole pallet.



v. Average cost –  Cost of goods  28 boxes = £ 5460.00
                         DPD Courier Service          £   210.00  
                                   Insurance                          £      19.50   (13 boxes)
                                   Insurance                          £      18.00   (15 boxes)
							 £  5707.50
£5707.50 / 28  = £203.84 per box.


Session 7	Health and safety at work 
Task 1
Use a calculator to check your answers and discuss
Task 2 
High visibility jacket 					£24.99
Hard hat						£12.95
Goggles						£ 9.30
Gloves – reinforced palm gloves  			£ 2.25
Safety boots						£49.95
							£99.44
To calculate the cost for 14 members of staff you need to multiply £99.44 by 14.
£99.44 x 14 = £1392.16
Task 3
High visibility  waistcoat  			£ 6.99
Ear muffs					£ 5.90
Eye protection – goggles			£ 9.30
Safety boots					£49.95
							£72.14
£72.14 x 36 staff = £2597.0
Task 4
To kit out 50 members of staff with the correct personal protective clothing
Answers from Task 2 -   £1392.16   +
Answers from Task 3 -   £2597.04
		                  £3989.20
£3989.20 / 50 = £79.78 to kit each member of staff with personal protective clothing


Task 5
Personal protective clothing from Task 2 – 
£99.44 x 2 people                     = £  198.88
£160 x 2 people                        = £  320.00 
                                                    £  518.88

£99.44 x 3 people                     = £  298.32
3 people x £360 (3 day course) = £1080.00 
                                                     £1378.32


















Session 8	Time
Task 1  
Can you identify time in different units, what do the following units of time represent:
60 seconds  	=  		1 minute
15 minutes	=		a quarter of an hour
30 minutes	=		half an hour
45 minutes	=		three quarters of an hour
60 minutes 	=		1 hour
24 hours 	=		1 day
1 week 	= 		7 days
1 year 	=               	365 days    (366 days in a leap year)
1 year 	=		52 weeks
1 year		=  		12 months
10 years 	= 	       	1 decade
100 years	=		1 century	
Task 2  
Identifying amounts of time.
0. How many minutes are there in 3 hours?  60 x 3 = 180 minutes

0. How many seconds in five minutes?  60 x 5 = 300 seconds

3.      How many hours in four days?  96 hours

1. How many years are there in four decades?  40 Years

1. How many years are there in three centuries?  300 years

1. Change the following times from the 12 hour clock to the 24 hour clock
i) 9.00 am    = 09.00 			iii)   8.20 pm   =  20.20
ii) 10.50 pm  = 22.50			iv)   3.45 pm   =  15.45
1.  Change the following times from the 24 hour clock to the 12 hour clock
i) 11.00      =  11.00 am 		iii)  17.30      =   5.30 pm
ii)        19.15	   =  7.15  pm	                    iv)   15.45     =   3.45 pm
Task 3
1. John was 20 minutes early.
2. Yes, Lisa was 13 minutes early.
3. David arrived 8 minutes late for work.
4. 7.00 AM      -----------   half hour  -------------  15.30  --------   overtime
                                      break
          4 hours                30 minutes    4 hours                 3 hours

4 hours + 4 hours + 3 hours   + ½ hour for a break =  Michael can expect to finish at 18.30  /  6.30 pm.

Task 4

1. The warehouse manager works for 9.5 hours
2. The driver works for 10.75 hours
3. The cleaner can expect to finish at 11.45am
4. It takes 1.45 hours to get to LZL Logistics – arrival time 9.15am.  ¾ hour to unload – 10.00am.  It will take a further 1.45 hours to travel back to Swindon - expected arrival time back at the warehouse – 11.45 am.
5. The delivery driver should expect to arrive approximately 1.05pm.
6. If he starts at 8.15am, it takes 20 minutes to load the vehicle, 3 hours in travelling including a half hour break arriving at 12.05pm.











Session 9	Mileage charts 
Task 1

1. Edinburgh  to London   	- 413 miles
2. Exeter to Leeds		- 285 miles
3. Norwich to Edinburgh	- 455 miles
4. London to Exeter		- 200 miles
5. Leeds to Edinburgh 	- 200 miles
6. What is the total distance from  Exeter to London then to Leeds 
- 401 miles
7. A lorry driver has just arrived in Norwich from London, he has now been asked to go to Leeds the next day.  How many miles will he drive? 
- 292 miles

Task 2

1. Edinburgh to London      	- 7 hours 35 minutes
2. Leeds to Norwich           	- 3 hours 43 minutes
3. Exeter to London		- 3 hours 38 minutes
4. Edinburgh to Leeds	- 4 hours 26 minutes
5. Norwich to Exeter		- 5 hours 59 minutes
6. What is the approximate total journey time from Leeds to Norwich then on to London    3hr 43m + 2hr 45m  =  (3.75 hrs  + 2.75 hrs)  = 6.5 hours  
7. A lorry driver has to drive from the warehouse in Edinburgh to deliver some goods in Leeds then Norwich.  Calculate the approximate journey time there.   4h 26 mins + 3.43 mins = (4.5 hrs + 3.75 hrs) = 8.25 hrs
8. A lorry driver has seven hours left on his tachograph.  A tachograph is an instrument which measures the amount of time a lorry / HGV (Heavy Goods Vehicle) driver is on the road.  
He needs to go from Exeter back to London and then onto Norwich.  Will he have time?  Calculate the approximate journey time and state whether this can be done in the time.     
– Exeter to London – 3 hours 38 = 3.75hours
London to Norwich -  2 hours 45 = 2.75 hours  
3.75 + 2.75 = 6.5 hours.    Yes the journey can be done in the time.





Session 10	 	Pictograms
Task 1

Monday           8    	biscuits
Tuesday         10   	biscuits
Wednesday     7  	biscuits

Task 2 

1. Monday     	175 cameras
Tuesday	125 cameras
Wednesday  150 cameras
Thursday	125 cameras
Friday          200 cameras

Cameras sold in a week = 775 cameras

2.   775 x 4 weeks = 3100  sold in a 4 week period

If the rate of sales continued at this level it could be predicted that you might sell 3100 cameras in a week.

3.  775 x 52 week (1 year) = 40,300 cameras might be sold in a year


Task 5  
Team a.   	85      
Team b.         110
Team c.     	75
Team d.        140
Team e.          90
                    500 clothes in one hour x 7 = 3,500 items of clothes in a seven hour period.  



Session 11	 Tally charts and pie charts

Task 1 
What is a tally chart?  
A tally chart is a system where small marks are made in groups of five to indicate items in a particular category.

What is a pie chart?
A pie chart is a visual chart which represents the most / least popular in a set of items or categories.

Task 2 
Electronics / Computers                 llll l     = 6
camera,  computer mouse,  mobile phone,  mouse mat,  Ipod,  mobile phone case
Books                                             lll        = 3
comics,  biographies,  crime mystery books
Sports and Outdoors                      llll lll   = 8
badminton racquet, tent, cricket bat, fishing rod, football boots, football, tennis racquet,  bike
Toys 					llll llll   = 10
Spiderman, toy cars,  star wars, dolls, transformers, dolls clothes,  board games, football table, Barbie,  Lego 






Task 3  
Create a pie chart to show the information.
PIE CHART                         360  / 27  =   13.33 degrees

Electronics / Computers     13.33 x 6 =     80
Books                                  13.33 x 3 =     40
Sports and Outdoors          13.33 x 8 =    107
Toys			          13.33  x 10 = 133
                                          All add up to 360 degrees








Session 12		Bar charts
Bar chart is one of the most popular and simplest ways of showing information.
Task 1
1.  The title is missing from the chart.  You need to put a title to ensure the reader knows what the information is all about.   An appropriate title would be  for example…“A graph to show how many people work in each department at BL Clothing.”

2. Department A – 3 people
Department B -  6 people
Department C -   9 people
Department D –  4 people

3. 22 people work in the company altogether.

TASK 2
     1.
1. Lawnmowers		 90
1. Barbecues		105
1. Garden furniture		 50
1. Pools and hot tubs         22
1. Greenhouse		 32

      Total number of sales - 299 sales in a week in the Garden Department.

 2.   Barbecues has the highest number of sales, perhaps due to a warm and sunny   March.  People are keen to have a party.
   3.   Pools and hot tubs are low perhaps due to being too expensive. 





Session 13		Postage and packaging
Task1
[image: ]
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Task 2
[image: ]



a)   	T Shirt				  120g
Large Letter
First Class: £1.04
Second Class: £0.85
Difference in cost: £0.19

b)   	Atlas                     		 1100g	
Small Parcel
First Class: £5.15
Second Class: £3.50
Difference in cost: £1.65

c)       Kettle 	                  		1600g
Small Parcel
First Class: £5.15
Second Class: £3.50
Difference in cost: £1.65

d)  	Jumper                  		 200g
Small Parcel
First Class: £2.90
Second Class: £2.50
Difference in cost: £0.40

e)     	Pack of 3 tennis balls	175g
Small Parcel
First Class: £2.90
Second Class: £2.50
Difference in cost: £0.40



Task 3
1. Pack of 3 T Shirts            500 g

A pack of 3 T Shirts would be a small parcel

	First Class
	Special Delivery before 1pm
	Signed For

	£2.90
	£7.15
	£4.30



The best option would be First Class, as it is not an expensive item and does not need compensation. Also the increase in cost for next day delivery is high.

b)	Picture Frame              	 225g

A picture frame could be a large letter, which can be up to 25mm thick.

	First Class
	Special Delivery before 1pm
	Signed For

	£1.04
	£7.15
	£2.34



The best option for a picture frame could be First Class, or if it has value up to £50 the option to have the item Signed For only increases the cost by £1.30.

c) 	Pack of three books        2200g

A pack of three books is a medium parcel.

	First Class
	Special Delivery before 1pm
	Signed For

	£15.85
	£26.60
	£16.95



The books should be sent Signed For since the small increase in cost of £1.10 provides compensation up to £50 to replace the books should they be lost.

d)  Cushion		         1200g

The maximum thickness of a small parcel is 8cm so a cushion would be sent as a medium parcel

	First Class
	Special Delivery before 1pm
	Signed For

	£7.50
	£11.00
	£10.00



A cushion should be sent First Class.

e)  Mobile phone                    200g

Mobile phones come boxed, which would mean that they need to be sent as a small parcel despite the low weight. 

	First Class
	Special Delivery before 1pm
	Signed For

	£2.90
	£7.15
	£4.30



The mobile phone should be sent Special Delivery in order to protect against loss or damage. 
· When the customer wants next day delivery on any item there is a significant increase in cost – there is a minimum charge of £6.40 for next day delivery. However, the larger the parcel the smaller the percentage increase.











Task 4

	Item

	Cost

	T-shirt

	£1.04

	Atlas

	£5.15

	Kettle

	£5.15

	Jumper

	£2.90

	Pack of 3 tennis balls

	£2.90

	Picture Frame

	£1.04

	Pack of three books

	£16.95

	Cushion

	£7.50

	Mobile Phone

	£7.15

	
Total

	£49.78

	
Average for each of 9 items

	£5.53












Session 14		Percentages
Task 1
What does the term percent mean?
What is the symbol for ‘percent’?
A percentage can be used to display how many parts there are in a 100.   Forty percent 40% basically means the same as 40 parts out of 100.
Percentages are used in shops and can show the sale price of items – eg 50 % off 
The symbol for percent is % 

Task 2
0. A supplier is offering 10% extra free on all materials. David needs to   buy 
80 pieces of shelving for the warehouse.   Calculate how much shelving he will get altogether.

 10% = 8 extra pieces of shelving altogether

0. Jack needs to borrow £8000.00 to fund his business.   He intends to pay back the loan in one year’s time plus interest of 6%.  How much will Jack pay in total?

£8000.00 x 6% = £480 = £8480.00 will be the amount of money Jack needs to pay back after one year.

0. Interest rates rise the following year and are now at 8%, Jack needs to borrow a further £5500.00.   Calculate the total amount Jack will need to pay back? How much interest will Jack have to pay?
£5500.00 x 8 / 100 = £440.00 Interest
£5500.00 + £440.00 = £5940.00 Total to pay back.


Task 3
LZL Logistics has a factory shop in the warehouse.  Due to an increase in goods from your suppliers, the continual fuel increase and overhead charges.  You need to increase your prices by 10% to cover this.
The following goods retail at these prices.  Calculate the new price by increasing them by 10%

Toy Department

	ITEM
	Cost
	New Price – Less 10%

	Dolls
	£24.99
	£2.50
	£22.50

	Star wars
	£18.99
	£1.90
	£ 17.09

	Toy cars
	£6.50
	£0.65
	£  5.85

	Football
	£4.35
	£0.44
	£  3.91

	Tennis racquet
	£15.60
	£1.56
	£14.04


	
Work out the following items using the given percentage
	Lego
	£26.50
	15%
	£  3.98
	£ 22.52

	Bike
	£135.00
	15%
	£20.25
	£147.75

	Cricket bat
	£8.80
	20%
	£   1.76
	£   7.04

	Spiderman
	£15.90
	25%
	£  3.97
	£  11.93

	Football Table
	£160.00
	15%
	£24.00
	£136.00

	Mobile Phone Case
	£7.99
	10%
	£  0.80
	£    7.19



Task 4
You work at BR Clothing and have noticed there is a lot of stock getting left in the warehouse.  You need the space and want sell the items quicker.  One way of doing this might be to decrease the price of the items. 
The following items need to be reduced.  Calculate the new cost if you decrease the price by 10% and 20%.
	ITEM
	AMOUNT
	Reduce by 
10%
	Reduce by 
20%

	Jumper
	£9.00
	£0.90
	£8.10
	£1.80
	£7.20

	T Shirt
	£15.00
	£1.50
	£13.50
	£3.00
	£12.00

	Skirt 
	£21.00
	£2.10
	£18.90
	£4.200
	£16.80

	Dress - Floral
	£28.00
	£2.80
	£25.20
	£5.60
	£22.40

	Dress – Indian Design
	£32.00
	£3.20
	£28.80
	£6.40
	£25.60

	Dress - Plain
	£26.50
	£2.65
	£23.85
	£5.30
	£21.20

	Dress - Patterned 
	£34.50
	£3.45
	£31.05
	£6.90
	£27.60

	Trousers
	£19.00
	£1.90
	£17.10
	£3.80
	£15.20


Task 4
A van costs £5400 and depreciates (goes down in value) by 10% each year.  Calculate how much the item will cost in 1 year, 2 years and 3 years time.
Remember when calculating 2, 3 and 5 years  to use the figure you have obtained in your previous answer.

In one year      £5400 x 10 % =     £540 =          £4860.00
In two years    £4860 x 10 % =     £480=           £4374.00
In three years £4374 x 10 % =     £437.50 =     £3936.50
In four years   £3936.50 x 10% = £393.65 =     £3542.85
In five years    £3542.85 x 10% = £354.29 =     £3188.56

The van will depreciate and be worth £3188.56 in five years time.   In order to work out five years you will have to work out Year 4 as well.

















Session 15		Averages

Task 1
Write down a definition for the word “Averages”
An average is also known as the arithmetic mean, this is where a list of numbers is added together and divided by the size of the list.  Other words used to mean ‘average’ are as follows: median, mode and range.

Task 2   
15 + 8 + 7 = 30                               	17 + 23 + 5 = 45
17 + 16 + 6 = 39				42 + 13 + 14 = 69
13 + 8 + 18 =	39			           62 + 24 + 25 = 111
7 + 8 + 6 =    21                                       16 + 8 + 12 = 36
17 + 16 + 10 + 9 =	52		           13 + 14 + 6 + 9=   42
13 + 8 + 20 + 11 =	52			  62 + 24 + 25 + 7 + 18 = 136
 
Task 3 
24 + 24 + 28 + 22 =  	98 / 4 = 24.5
14 + 15 + 14 + 17 =    	60 / 4 = 15
15 + 12 + 13 + 11 + 14 =  	65 / 5 = 13 
26 + 29 + 20 + 20 + 35 = 	130 / 5 = 26
12 + 18 + 14 + 12 + 9 = 	65 / 5 = 13 





Task 4
Below is a list of items sold in a monthly period   
Calculate the mean and mode,   of 
Kettle
1.    1, 6, 9, 5, 11, 8, 5, 13, 5.

Mean – 63 /9 = 7
Mode    5
Toaster	
	(b)	23,  11,  17,  12,  14,  29,  30,  11,  29,  19.
                                       	Mean – 195 / 10 = 19.5
                                       Mode 29 and 11
Microwave
	(c.)	8,  3,  6,  5,  2,  10,  1,  7,  4,  9.
				Mean – 55 / 10 = 5.5
                                        Mode - 8, 3, 6, 5, 2, 10, 1, 7, 4, and 9 
Coffee Maker
   	(d)	103, 134, 109, 112, 121,  148,  134.
				 Mean - 861 / 7 = 123 
                                         Mode - 134
 Television
(e)	9,  1,  7,  3,  5,  4,  3,  5,  4,  8,  2,  9.
				Mean – 60 / 12 = 5
                                        Mode – 9, 3 and 5




Task 5
There are many in the stock rooms in the warehouse where you work.  Your boss has asked you to take the temperature of all the rooms and work out the 
· mean 
· mode 
· median 
· range
Here are your findings:
	Picking Area
	11 degrees

	Sorting Area
	18 degrees

	Goods Inwards
	19 degrees

	Goods Outwards
	15 degrees

	Packing
	23 degrees

	Office
	14 degrees

	Yard Office
	12 degrees



Mean   = 11 + 18 + 19 + 15 + 23 + 14 + 12 = 112 
112 / 7 = 16 = Mean

Mode – 11 18 19 15 23 14 12  
All the figures because none of them are duplicated.
Median
11 12 14 15 18 19 23
The middle number is 15.   Therefore the median is 15.







Session 16	 	Ratios
Task 1
Equivalent Ratios
1 ) 1 : 2 = 2 : 4 = 3 : 6 = 4 :8 = 5 :10 = 6 :12

2 ) 1 : 3 = 2 : 6 =3 : 9 = 4 :12 =5 :15 = 6 :18

3 ) 1 : 4 = 2 : 8 =3 : 12 = 4 :16 = 5 :20 = 6 :24

4 ) 4 : 7 = 8 :14 =12 :21 =16 :28 = 20 :35 =24 :42

5 ) 1 : 5 = 2: 10 = 3 :15 = 4 :20 = 5 :25 = 6 :30

6 ) 1 : 6 = 2 : 12 = 3 :18 = 4 :24 = 5 :30 = 6 :36

7 ) 3 : 5 = 6 : 10 =9 :15 =12 :20 = 15 :25 = 18 :30

8 ) 1 : 8 = 2 : 16 = 3 :24 = 4 :32 = 5 :40 = 6 :48

9 ) 2 : 3 = 4 : 6 = 6 :9 = 8 :12 = 10 :15 = 12 :18

10 ) 2 : 5 = 4 : 10 = 6 :15 = 8 :20 = 10 :25 = 12 :30




Task 2
1. On average, £1.20
1. 2 days
1. 36 days for one man. 4 days for 9 men
1. One glass in addition
1. £35
1. John:£18, Heather:£12, Michael:£6
1. A family ticket is best, they will save £10
1. Thomas will pay £4.80 so they will pay £5.40 each.
1. George should buy 2 x 10m, 2 x 4m, 1 x 1m for a total cost of £380.
1. It will travel 300km on 30 litres. It will need 12.5 litres to travel 125km

Session 17		Revision Project  
Activity 1							£
Monday		Breakfast at home		
			Lunch				  5.00
			Dinner				10.00
			Accommodation		30.00
Tuesday		Breakfast			  5.00
			Lunch				  5.00
			Dinner				10.00
			Accommodation		30.00
 	Wednesday		Breakfast			  5.00
			Lunch				  5.00
			Dinner at Home
			Total				105.00

								miles
Fuel			Depot to Dover			    60
			Calais to Drop 			  600
			Drop to Calais			  600
			Dover to Depot			    60
						Total		1320
					@20 miles per gallon
				-1320/20 = 66 gallons @ £6.20		409.20
						Total			514.20
				Round to 				550.00

Five Hundred and Fifty Pounds     £550.00

Activity 2			
Ferry departs 7.00
It will take Pat 1hour and 30minutes: and to arrive 30 minutes before he needs to allow 2 hours so he needs to leave at 5.00 latest

	60 miles at 40 miles per hour
	1hour drives 40 miles
	Half hour =   20 miles
     So, one and a half hr is 60 miles

The ferry takes from 7.00 to 10.35, which is 3 hours and 35 minutes; but France is one hour ahead so the ferry actually takes 2hours and 35 minutes


Activity 3
Fuel in the UK costs £1.35 litre
How much is this is gallons
	4.55 litres = one gallon
	So 4.55 * £1.35 = £6.1425 rounded to £6.14

	He buys 15 gallons @ €1.30 per litre
	15 gallons = 15 * 4.55 litres = 68.25 litres @ €1.30 = €88.725
	€88.725 @ 0.80p =  £70.98
	15 galls @ £6.14  =  £92.10
	So he saves	       £21.12 per 15 gallons

He travels through France 600 miles and back, another 600 = 1200 miles
1200 miles @ 20 mpg = 60 gallons, 60 gallons ‘ 15 gallon refills = 4 fills

Activity 4
1	bank £500 less £10 = 490 @ .83 = €590.36
2	ferry £500 less £5 =  495 @ .82 = €603.66
3	France £500 = 500 @ .80 = €625
So it is best in France

Activity 5
	120 km per hour, 8km = 5 miles
	120/8 = 15, 15 * 5 = 75 mph

	80 km per hour
	80/8 = 10, 10 *5 = 50 mph

Pat’s dinner cost :  soup 2, mains 5, cheese 3 = €10, add 10% = €11, gives €20 receives €9 change

Activity 6
	Volume of pallets = 3 * 4 * 2 = 24 cubic feet
	Volume of truck = 9 * 16 * 10 = 1440 cubic feet

	1440/24 = 60, so the pallets will fit

Or	pallets are 3 wide, truck is 9 wide so 3 will fit
	Pallets are 4 long , truck is 16 long so 4 will fit
	Pallets are 2 high, truck is 10 high so 5 will fit
	So 3 * 4 * 5 =  60 pallets

Activity 7

3	days rain is the average for June, so the probability is:
3/30 = 1/10 or one in ten, or 10%

Over 6 months the days rain are;
16+10+3+3+6+10 = 48, 48/6 = average of 8 days
Highest is 16, lowest is 3, therefore the range is 13

Activity 8	
Time table
		1010	1110	1210	1310
		1150	1250	1350	1450
The crossing according to the timetable takes 1 hour and 40 minutes, but as we lost an hour going over we gain an hour coming back so we need to add one hour therefore it takes 2 hours and 40 minutes.
Pat needs to be there 30 minutes before the 1310, so 1310 less 30 minutes is 1240.  He arrives in Dover at 1450 plus 50 minutes clearance takes him to 1540, then it takes one and a half hour to drive to the depot, so he arrives at 1710 (10 past 5)
								  
Activity 9	
3 days at 8 hours = 24 hours at £12 per hour     = 288
4	days at 4 hours @ 1.5 time = 12 @ £18 ph  = 216
total                                 = 504
	20% tax of 504 = 100.80
	10% nic of 504 =   50.40
	Total deductions					151.20
	Leaves Pat with						£352.80

Activity 10					    £
	Depot to Dover				  18.42
	Day 1 in France				  45.00
	Day 2 in France				  50.00
	Day 3 in France				  10.00
	Calais to drop off 2x30galls@€1.30	141.96
	Drop off to Calais         “    “		141.96
	Dover to depot				  18.42

	Total outlay				434.76
(the saving of approx £80 are the difference in fuel prices – see activity 3)	

Fuel in euros = 141.96 * 2 = £283.92 @ .80 = €354.90

Fuel in Uk = 18.42 * 2 = £36.84
Or 60 +60 miles = 120 miles / 20mpg = 6 gallons @ £6.14 = 36.84

[bookmark: _GoBack]Pat took £550, the trip cost £434.76 so his change should be £115.24
Column3	Department A	Department B	Department C	Department D	3	6	9	4	Column1	Department A	Department B	Department C	Department D	Column2	Department A	Department B	Department C	Department D	Number of items sold in the Garden Department in a week in March
Column1	Lawnmowers	Barbecues	Garden Furniture	Pools and Hot tubs	Greenhouse	91	105	53	24	33	Column2	Lawnmowers	Barbecues	Garden Furniture	Pools and Hot tubs	Greenhouse	Column3	Lawnmowers	Barbecues	Garden Furniture	Pools and Hot tubs	Greenhouse	Number of items collected from different departments in a 2 hour period.	Electronics / Computers	Books	Sports / Outdoors	Toys	83	42	97	138	90
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6,7,8and 9 times tables
Answer the following without the use of a calculator
1 5x9 =

2 5419 =

3. Ihave 45 sweets to divide between 9 people. How many
‘swests does each person get?

4. Whatis 49 divided by 72

5. 6 multiplied by 7 =

6. 45divided by 5 =

7. 1T share 63 cakes between 7 people, how many cakes does
each person get?

8. Whatis7x4?

9. One can of paint costs £7. How much do 8 cans of paint cost?

10. Which s the bigger number 8 x 6 or 9x 57

Now check your answers.

If you got some wrong try to work out why.
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Income Tax rates 2014 to 15 by tax band and type of
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How many degrees in a circie?

Imagine a man in the Picking Department spends his tme walking
o various secions of the warehousa to obtain goods for diferent
orders.

‘The following data shows how many times he goes o each
department i the space of two hours.

Display the following data in tho form of a pie chart.

Electronics & Computers 20
Books 18
Sports and Outdoors 15
Toys, Children and Baby 3

1. First of all you need to add all he figures up:
20+18+15+3 =56

2o convert this informaion into degrees you naed to diide the
number of degrees in a circle - 360 degrees by the total o the data
figures. 360156 = 6.43° degraes

3. Bach of the department igures nesds to be mutipied by 6.42

dagrees.
Electronics & Computers  20x6.43 = 1299
Books 18643 = 1169
‘Sports & Outdoors 15x643 = 960
Toys, Chidren and Baby ~ 3x643=_190
360

4. Now transfer each of the dspartments 1o the pie chart. Draw a
Iine 10 the middle, thisIs your staring point. Use the protractor (o
measure 129 and draw  lne.

5. Use thelne you have drawn at 129 ® and measure the next
depariment - 116 ©

6. Repeat tis il you have draw all departments in

o
NB. Remember all depariments need o add up to 360 Uegrees
othenwse they wil not appear right on the pie chart
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A graph to show the range of clothes in a warehouse picked in a morning.
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Account

1st Class 2nd Class

Letter 100y 49 35p
Large Letter 100y T4p 60p
2509 £1.04 85p
500g £1.38 £1.13
7509 £1.95 £159
Small Parcel kg £2.90 £2.50
2kg £5.15 £3.50
Medium Parcel Tkg £4.80 £4.40
2kg £7.50 £6.85
Skg £15.85 £13.75
10kg £21.90 £20.25
20kg £33.40 £28.55

Prices in ths table are exempt from VAT.
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magazines, CD or
DVD in case,
some large
greeting cards
with badges

Handoags,
clothing, board
games

Shoss, boots,
toasters, irons

Examples: Gifts
shoes, heaw or
oulky ftems.

100g

7509

2g

2%

20kg

240mm

3s3mm

asem

61cm

165mm

250mm

35cm

25cm

46cm

smm

28mm

sem

16cm

46cm
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Rolled and cylinder shaped parcels

Forrolled and cylinder shaped items, the length of the item plus twice the dismeter must not
exceed 104cm, with the greatest dimension being no more than 90cm. Rolled and cyinder shaped
parcels that measure up to 45cm in length and 8cm in diameter and do not exceed 2kg can be sent
as small parcels.
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Royal Mail Special Delivery Guaranteed by 1pm®"

Stamps/Online postage Franking

Weight upto  Up to Up to Upto Upto Up to Upto
and including £500 £1,000 £2,500 £500 £1,000 £2,500
100g £6.40 £7.40 £9.40 £6.15 £7.15 £9.15
500g £7.15 £8.15 £10.15 £6.75 £7.75 £9.75
1kg £8.45 £9.45 £11.45 £8.00 £9.00 £11.00
2kg £11.00 £12.00 £14.00 £10.40 £11.40 £13.40
10kg £26.60 £27.60 £29.60 £26.60 £27.60 £29.60
20kg £41.20 £42.20 £44.20 N/A N/A N/A

Prices n this table are exempt from VAT.
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Royal Mail Signed For® - provides you extra reassurance that your item has been delivered.

The right choice for your business if you:

» would like proof of delivery and signature from recipient
 would like to check if your item has arrived wherever you are on your mobile
 would like compensation cover up to £50.

1st Class

2nd Class

Letter 100g £1.72 £1.60 £1.63 £1.47
Large Letter ~_100g £203 £1.86 £183 £171
250g £2.34 £2.16 £2.27 £1.97
500g £2.75 £2.50 £2.58 £2.25
7509 £3.48 £3.06 £311 £271
Small Parcel ~ 1kg £4.30 £4.00 £3.90 £3.60
2kg £6.55 £6.25 £4.90 £4.60
Medium Parcel _1kg £6.75 £5.90 £6.30 £5.50
2kg £10.00 £8.60 £9.10 £7.95
Skg £16.95 £16.95 £14.85 £14.85
10kg £23.00 £23.00 £21.35 £21.35
20kg £34.50 £34.50 £29.65 £29.65

Prices i this table are exempt from VAT.

To find out more go to www.royalmail.com/signedfor
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100% means all.

Examgle:

100%0£80 s x50 =50
0

50% means half.
Esample

7 50 oo,
S0%40f80is 21 x50 =40

5% means “pas

Example:

$%40f80 s x50 =
%
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‘When you say "Percent” you are really saying "per 100"

S050% means 0 And 25% means 25
per 100 per 100
(50% of thisbox is  (25% of this box is
o) e
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Tbuy ks of Apples for £1.50 per kilo and 3kes of Apples for £1.00 per ko,

what does g of apples cost?

2 Oneman builds 2 fence and it takes i § days, howlong would it ke 4

33 men mend a steetch of the s, ttakes 12 days, how long would i take one
man? Howlong would it take 9 men?

4 Tmake 2 cocktal for myself and my two fiends, T use ome glass of gn, ome
elass of orange juice and hlf a glass of lemomade. [f six more people tum
up hows many gfasses of lemonade do I need?

5 John, Heather and Mickael al buy 2 lotery tickst each with n agreement to
share winnings equally. Mickael wins £105, how much does each of them
!

6 Jobm buys 3 Lottery tickets, Heather buys 2 tickets and Mickael buys 1 ticket.
‘They agres to share wimings in proportion. How much doss cach get if
they win £367

7 Tosee the badminton at the Olympics adult ickss cost £13, chldren tickets
cost £12, 2 Eamily ickst costs £50. I two adults nd two children go
which i the best ticket option, and hows much o they save?

& Thomas md Katie goto the cinema, Thomas has 2 saver card sohe gets 20%
off They agree foshare the cost, Katie pays £6 for ber icket, how much
does Thomas pay. and how much do they pay eack?

9 1 metre of face costs £20, 4 mefres cost £60, d 10 metres cost £120.
‘George needs 29 mefres ~ what s the best ption and how much doss it
costhim?

10 A cartravels 50 kms on 5 s of petrol, how farwill i travel om 30 s of
petrol? How much petrol will tneed to travel 125 kms?
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Employee Number

Salary / Wage
includes number
of hours, hourly
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Employee Name
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You have to pay
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Salary

Yeary
£13,124.80

£10,000.00
£624.96
£620.26

=ﬁ1l245‘22

£11,879.58

Monthly

Weekly

Hourly

£1,093.73
£833.33
£52.08
£51.69
£103.77
£989.97

£252.40
£192.31
£12.02
EiliLCR
[225.85
£228.45

£6.73
£5.13
£0.32
£0.32
£0.64
£6.09
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Enter your salary and click show to calculate how much tax you pay

Yeary
Salary £25,000.00

£19,954.72

Compare: Take Home 2013 [click show]

014 - 2015 income tax and NI calculator UK [

Monthly Weekly Hourly
£2,083.33 £480.77 £12.82
£833.33 £192.31 £5.13
£250.00 £57.69 f£1.54
£170.44 £39.33 £1.05
£420.44 £97.02 £2.59
£1,662.89 £383.74 £10.23
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Sending parcels and letters in the U

1st Class and 2nd Class - On Account

1st Class - is a fast and efficient next-day delivery service.

The right choice for your business if you:

« need reliable, good-value, next-day delivery including Saturdays
 want the simplicity and convenience of a proven mail service
 want to benefit from the same price anywhere in the UK.

2nd Class - is a cost-effective service with delivery within three working days after posting.

The right choice for your business if you:

 don't require urgent delivery
* want to save money on postage
* want the simplicity and convenience of a proven mail service.

These services do not offer any discounts for volume or presentation and are VAT exempt. You can find
the terms and conditions for these services in the Royal Mail United Kingdom Post Scheme.

4stand 2nd Class can be paid for using stamps, franking, online postage, SmartStamp®, or on account.
Account prices are shown below.

To find out more go to www.royalmail.com/1stclass or www.royalmail.com/2ndclass
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Traineeship Staff

Support Programme




